


3 v oy 5 o]
MANUIN N ETaElEelunITATIREaLIATAINe

1. AS.4NNT  QULEITY
2. pe.lafimn  d1sem
3. Ao BEIUNT
4. WIANBT  GUINNAE

5. WNUABN  ADALNST

sredagidaaTny

2197381E{ARULITTINMATT ATIRANA AT
AUEINGNANART NUNTNREIULIALS
8141986 aauLlsrANNARTIANIAANART

ALTINENANERT NUIDNEVRLULIALT



MANuIN 2 wuudssiliugafanssumsFauiuaznanisissiiufianssunmsiaug

y
URIELTITTY

wnlszifiudwmiugidas oy

ATINRNICANADAARBIUDITANANTTNMTIEEUTAINUUIAN DI INALNAILENEID
nsuitduiiedaadaanuaansalumsuitymmsadinaansiiaounise

Hlunwndangu duduinGeudusisendnwild 1 udngns SMEP

WA .o (3O oo

Aauag

TsaanundrgananssunisGauiaiuuueAnaasinaenfoagnaisnisulitlyw
Lﬁ@]mLzﬁumwmmsniunW?Lu"’]ﬂmmmamﬁmmam%ﬁﬁamumsmﬂummﬁanqw
dusninFeudusisandneilil 1 wdngms SMEP 107 1 G gMednIsAuMILLLgL HAiu
wnzannesssznaudusne itmussiel Tnadautemsng ¥ adudes “sedy

AMHIMNIZAN” ANNANNAATUYDIYINY AT

)
=i

=2 = as
5 “NNEON um’mmmmﬂu?mumanm
= = ar
4 wunate Aenumnnzanluszaunnn
=3 =4 [
3 wwee  aenumnnzanluszaulunans
2

=< S LA 4
NN UAanumunzauluseaLiian

[
=l

=K IS o W
1 wuug um’mmmmﬂmmuu@wqm

SLAUAMNLUNIZHN

5 4 3 2 1

sren1sUsTIiY

L 1 &N
PMUANBAZ

kd d’j a e b2 o/
1. mduaslunisufimeesngiaeudnian

2. A13en13BeiaanndeatuanlssaaAnIs s
U L3 q

3. WHUNTIANIIEET
3.1 andszasAnising
3.1.1 ATBLARNWEFANTINNIELUEFIuANNG

N LR AF




92

s1an15uszLiu

FELALAMNEUNIZAN
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3.1.2 wanzaniudtaefen

3.1.3 qntlszasAtmiaudnladny

3.1.4 g1enssiiiuna s

3.2 @a13TeEeg

3.2.1 aenn&eIiuqnLlsyaaAnIs eyl

3.2.2 wnzaniuduvedFan

3.2.3 asensiFpuginaudnladng

3.2.4 Waulanidsclomisagiou

3.3 AanssunIsiEeug

3.3.1 aenndesiugmlszasrnisieng

3.3.2 #aAAdeIiULHam)

3.3.3 @5NAING INE WazngFnssNTnIuun

3.3.4 Gaeansuianssutlulupndunauliatng

LWNNZAN

3.3.5 WNNZANTLNANSANANTTN

3.3.6 fEautidondanlufansen

3.4 AaN3EEUS / unaIn iU

3.4.1 AAPRENTUAANTINNEYS

3.4.2 WNNZANALNY ANNARLALAZANATNNID

@
2B T8

3.4.3 Branuaula daalifianisiEausléig,

3.4.4 dszugmaanlunisanys

3.5 nMsdauazrdsziiiung
3.5.1 aenndasiuqaLlszaeinisiEauiuaransy
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3.5.2 1Asasianddamunzaniuman

ANANNTaLAZ TR TEY

3.5.3 #UATNNTTAANNG LARAR WAZATTLAUNNS

3.5.4 nsdanseylianunsnilsaniiulg

4. lupa g

5. vaaelunanssy
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AUANBUNLTEU
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1. m‘mwﬂumiﬂgummummummu

2. aynsiauiaanadasivandssasdniatiaul

3. lumanug

4. lunanssy

AN AALTAULNNLAN



94

NS4 14 WARIALDRELATAIULTIEIUUNNATINARINANITNANTNANHMINZ AN
2a3gANANssNNsF Ui mNLIAnasinaeAeEnsIan1sun Ty
iadasdnanuaansalunmsuitymneatamanifnaouniso
Hunwdsnge dwduinGeutudisendnuilit 1 uAngas SMEP ga# 1

= aa 2
t389 gNaIsn1sARMILUg

AZLLUUNITNANT U

4aANN URIGLTAILITY AUN SD.

ol

1 2 3 4 5

PIUANDAS
o a o 4 & 5 5 5 &6 5 500 0.00
1. AauaslunisufjiRaesngisaudaiau

2. ansvnsBuiaannieniuqalsasAnisGew 5 5 4 5 5 480 045

3. WHUN1SAANITIERIN
3.1 qadszasAnsEaud
\ & 5 5 4 5 5 480 045
3.1.1 ATALIARNWEANIINNISEEUUS

ARG VINMT 1ARAR

3.1.2 wnzaniuduaasgisay 5 4 5 5 5 480 045
3.1.3 qadszasndaiauidinladng 5 4 4 5 5 460 055
3.1.4 aunsalssidiung lé 5 4 4 5 5 460 055

3.2 A9ENN3EES
o ., 5 5 5 5 5 500 000
3.2.1 aananfeeiuanlszasdnisiyug

3.2.2 wnzaniudtaesiise 5 4 4 5 5 460 055
3.2.3 @szmsiraugdaraudnladng 5 4 4 5 5 460 055
3.2.4 rawlaiidssTamisaf Gou 5 5 5 5 5 500 000

3.3 AanssunsEeg
. L., 5 5 5 5 5 500 000
3.3.1 aanAaRINUqALlszasAnNsEe g

3.3.2 @aanAdaIiLLenn 5 5 5 5 5 500 0.00

3.3.3 a31dTNANNG iNBT Ay
- de 5 4 4 5 &5 460 055
WOANFTNAAMUA
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AZLUUNITNANTUN
TRAIN mmé'l,%mmcy AU, < SD.
1 2 3 4 5
3.3.4 Feaansuianssuiiiulumudunay
o 5 4 4 5 5 460 055
Fatiramunzas
3.3.5 NNZaNAUANAANANsIN 5 4 4 4 5 440 055
3.3.6 fisautidaudanlufanssy 5 4 5 4 5 460 055
3.4 R8N9GEWS / WAIN9iEHS
|/ =3 \ [ 5 4 4 5 5 460 055
3.4.1 daARFRNALAANITNNISEENS
3.4.2 WHAzaNAudY AnNaulaues
o 5 4 4 5 5 460 0.55
ANANNNTOTBIE TR
3.4.3 Bamnnaula T liinanisEuus
. 5 4 5 5 5 480 045
18159
3.4.4 Uszngnnanlunisaan 5 3 4 5 5 440 089
3.5 NM9IALAZUTUNUNS - |
3.5.1 aannfasiuqnlseasAnisie s 5 4 4 5 5 460 055
WAZATENTEES
3.5.2 wraaiaf MmN zaNiunan
o 5 4 4 5 5 460 055
AYINAINITOUAZ ST T
3.5.3 AUATNNNIIAAINNE LARAR LAz
5 4 5 5 5 480 0.45
NSLUIUNNG
3.5.4 medanszylianisalssdiuls 5 4 4 5 5 460 055
4. luAanus 5 5 5 4 5 480 045
5. 1mag lunanssu 5 5 5 5 5 500 0.00
6. LRALWLUNAGDL 5 5 5 5 5 500 0.00
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1919 14 (7d)

AZLUUNITNANTUN

[ [ <4
AR 1R AEITIY AUN sSD.

>

1 2 3 4 5

AIuANaUNEEY
o F o om . oA o 5 4 4 5 5 460 0.5
1. mauaslunisUfifessinGeudaiay

2. @sznseuiaenndasiuaalscaeAnsGeu 5 4 5 5 5 480 045

3. lumanag 5 4 5 4 5 460 055
4. lunanssu 5 4 5 4 5 460 055
' Fa3LaRe 472 041

AN919 15 WERIALRREHATAIUITIEUUNIATEIUUBINANITRANT AN NN AN
1BIYANANTTNNSITEUSAINUUIAnYBINaENAdegnsI B NIsUN Ty 1
WeduainANNaIIsaluNMsUAT NI AGIRA AR ANR 0 UNIT T
Hunwdsnge dwduinGaududisesdnwila 1 nangas SMEP 1At 2

=4 ac ¥
LB sp’lﬁ’a fNN9A4919MAN919

AZULUUNITNAITON
ABAAIN PRIWTLIEITY AUN < SD.
1t 2 3 4 5
ATUANAAg 5 5 5 5 5 500 0.00
1. Aauaslunisdifaesngfaeudniay
2. a1sznsiEauiannAfediuqalizadnig 5 5 5 5 5 500 000
= 2
Bewg

3. BHUNNPAANTEUS
3.1 qauseasAniszeud
i Lo 5 4 4 5 5 460 055
3.1.1 ATALARNWOANITHNNTIEHWSHY

AYNNG VINME LARAR

3.1.2 wanzaniudtaessisey 5 4 4 5 5 460 055
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AZLUUNITNAITUN
TAAIIN mmé'l,%m’mcy AUT < SD.
1 2 3 4 5
3.1.3 qatlszasAdaamdnladng 5 4 5 5 5 480 045
3.1.4 gunsorssifiunaly 5 4 5 5 5 480 045
3.2 a9En9iEHug 5 4 5 5 5 480 045
3.2.1 aannfesniuanlszasAnsizeus
3.2.2 winnzaniudeaesfBou 5 4 4 5 5 460 055
3.2.3 a1sznsEeuidaaudnladng 5 4 4 5 5 480 055
3.2.4 haulafivlsylanider oy 5 4 5 5 5 480 045
3.3 AanssunsiEeg 5 5 4 5 5 480 045
3.3.1 aeaAdeNnUaatlsraIAnIsEeus
3.3.2 denndesiiniiom 5 5 5 5 5 500 000
3.3.3 AF1UETNANG INWE uay 5 5 5 5 5 500 000
woFnssuTiAvua
3.3.4 Fasarsunanssuiiulianw 5 4 4 5 5 4860 055
Funewletnamnzay
3.3.5 wnzantunasaRanssy 5 4 4 4 5 440 055
3.3.6 fEnundusanlunanssy 5 4 5 5 5 480 045
3.4 %@ﬂﬁ?ﬁﬂﬁg‘/wmmsﬁﬂuﬁ 5 4 5 5 5 480 045
3.4.1 asaAfenuRANsINNI9EYS
3.4.2 wnzaniude Anuaulauaz 5 4 4 5 5 460 055
ANHNANNNTOLBEFEN
3.4.3 Gianwaula dogliiiansGew 5 4 5 5 5 480 045
139
3.4.4 dszndananlunisaey 5 3 4 5 5 440 089
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AZLUUNITNANTOIN
SAAN mmé’:ﬁmmzy Auf < SD.
1 2 3 4 5
3.5 madauazisziliuuag 5 4 4 5 5 460 055
3.5.1 aanndesiuqnlssasAnieiuul
WAZANIENTEES
3.5.2 wiraslef il Tamnzauiung 5 4 5 5 5 480 045
ANNAN TN T BTN
3.5.3 AUATNNNIIAAING LAARR WAL 5 4 5 5 5 480 045
NITLIUNIg
3.5.4 madaiszyannsousadul 5 4 5 5 5 480 045
4. lupang 5 5 5 4 5 480 045
5. \atlufanssy 5 5 5 5 5 500 000
6. lanelLLUNagda L S 5 5 S5 5 500 000
pruANatNEaY 5 4 4 5 5 460 055
1. fnduastunisfiRrenindoudaan
2. arsensiuuiaennfesiuqnilscasAnig 5 4 5 5 5 480 045
Geg
3. luAnnasg 5 5 5 4 5 480 045
4. lufanssu 5 5 5 4 5 480 045
523123 476 0.40
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m1919 16 LL’ﬁﬂGﬁ’lLQaﬂLLﬂ‘&iﬁ’JuL‘ﬁﬂﬂL'lJ‘LIN’Iﬂiﬁﬁumﬂﬂﬂ@ﬂ’lﬁ’ﬁ'ﬂ’lﬁ‘m’lﬂ'}"lNL'ﬁN’l&’ﬂN

1RIGANANTTNNITEFAUTANLUIANTRINAE A8 ENsI BN suATym

& o Iy a ] ¢
INDAILATN ﬂ’)'\Nﬂ'\N']iQaL‘Uﬂ']‘iLLnﬂfy'ﬂTﬂ'Nﬂmﬂﬁ']ﬂﬂ?'/luﬂﬂ']uﬂ'lim

1% o a & o = ] s <
\Wlumundingu dafuinGeuduisandnwildi 1 wingns SMEP 107 3

1329 ENEIBMTITHUNTNUATUHUNN

W FANITUNAMULA

TUUUNITRATI
AAAIIN m@aél%m‘mm AuR < SD.
1. 2 3 4 5
pIuANang 5 5 5 5 5 500 000
1. ﬁiﬁimlum?ﬂﬁu‘"ﬁmmﬂgéa@uﬁmmu
2. a19EnsEauiaenAdasiuaalsrasinig 5 5 4 5 5 480 045
Geus
3. WHUN9PIAN9BES 5 5 4 5 5 480 045
3.1 amszatAniseg
3.1.1 ATRUARNWYANITNNNFEUUGH U
A Ntz aRAR
3.1.2 wwnzaniudoeesdGeu 5 4 4 5 5 460 055
3.1.3 qatlszasAdarudnladng 5 5 4 5 5 480 045
3.1.4 gansodszifiunali 5 4 4 5 5 460 055
3.2 @a13En5es 5 5 5 5 5 500 000
3.2.1 aaprdesiuandseasAnisBeus |
3.2.2 wnzantudtaesfideu 5 4 4 5 5 460 055
3.2.3 a1sznisieuiiamuinladng 5 5 4 5 5 480 045
3.2.4 haulalvsslamisiagFau 5 5 5 5 5 500 000
3.3 AAnssunsiEes 5 5 4 5 5 480 045
3.3.1 aanAdasiuamlszasAnisend
3.3.2 aanafasiuiiam 5 5 5 5 5 500 000
3.3.3 aFUdINANG inwe Laz 5 4 4 5 5 460 055
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AZLUUNITNAITIU
FAAMN m@aé’t’h;mﬂmzy AUT % SD.
1 2 3 4 5
3.3.4 Grassunanssuiulilang 5 4 4 5 5 460 055
TunewlFetnamnzan
3.3.5 wzaufuLaRsAnanssy 5 4 4 4 5 440 055
3.3.6 frauidausanlufanssy 5 4 4 5 5 460 055
3.4 Rennaliends / unaanisiiend 5 5 5 5 5 500 000
3411 aanAReIiuRanssNNs GBS
3.4.2 munzaniude anaulanay 5 4 4 5 5 460 055
ANATNTNUDIE TEIY
3.4.3 Brawaula doaliiianielew 5 4 5 5 5 480 045
1639
3.4.4 drzvdananlunisasu 5 4 4 5 5 460 055
3.5 NMsdauazilssiiung 5 4 5 5 5 480 045
3.5.1 aanAReNIUARLIsTaIANsEUS
WATANTENNIEES
3.5.2 wiasiefldTammnzaniunm 5 4 4 5 5 460 055
ANINATNNTDUAZ S EIDIE FEN
3.5.3 UEINNIAAINNG LARAR LAT 5 4 5 5 5 480 045
NITUIUNIG
3.5.4 afafiszyanmnsadsniuly 5 4 4 5 5 460 055
4. lupadg 5 5 5 4 5 480 045
5. watlufianssy 5 5 5 5 5 500 000
6. \RAEUULNARDL 5 5 5 5 5 500 000
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A1519 16 (FB)

AZUUUNITNAITIUN
HTanN mméﬁmmm AUT < SO
1. 2 3 4 5
AIUANUNTEY 5 4 4 5 5 460 055
1. frduwaslumstfriRvesinBeudaay
2. @nsznsisauiaanafenuqatlsrasinig 5 4 4 5 5 460 055
B
3. luAaug 5 5 5 4 5 480 045
4. lufanssu 5 5 5 4 5 480 045
573197 475 0.39

AN519 17 WANIALRRELAZF UL EIUNIATFIUTBINANISRANT N AN NIUN AN
PBIYANANTTNNFEUTAINUUIARIRIINAEN ARENEI B N1TWALTyI
Wadaaiuanuaansolumsuitymnsadinaansiaaaunise
lunndange dafuinGeududsendnuili 1 wANgns SMEP 1A% 4

b3589 ANEIBNITAALLUEAUNAL

AZLUUNITNAITIUN
BRI m@aé’t%mmcy AU < SD.
1 2 3 4 5
AuARang 5 5 5 5 5 500 000
1. ﬁﬁimluma‘ﬂﬁu“m'mmgtﬁmuﬁmmu
2. ansznsieuiaennfasiuqnlszasd 5 5 4 5 5 480 045
N9 |
3. UWHUNNIIANT TG 5 5 4 5 5 480 045

3.1 apiszatAnisizaus
= a L 784
3.1.1 ARLARNNEANTINNSBEEWGHAY

AYNNG INMY LaRAR
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AZLUUNITNAITIUN
TAAIN mfaa;:&%mmzy AT < SD.
1 2 3 4 5
3.1.2 winnzaNiudtreGen 5 4 4 5 5 460 055
3.1.3 aalszasAdamuinladng 5 5 5 5 5 500 0.00
3.1.4 grunsndsziiunals 5 4 4 5 5 460 055
3.2 an9znseng 5 5 4 5 5 480 045
3.2.1 aenndesiuanlszasAnisBaug
3.2.2 wnzannuiaediou 5 4 4 5 5 460 055
3.2.3 @1sznsFauiiaaudinladne 5 5 4 5 5 480 045
3.2.4 awladilszTanisadBean 5 5 5 5 5 500 0.00
3.3 Aanssunsieng 5 5 4 5 5 480 045
3.3.1 aanndeiuanilszasdnisBau
3.3.2 denndesiuiiiom 5 5 5 5 5 500 000
3.3.3 @5dINANT TinsY uay 5 4 4 5 5 460 055
woFinssufiiauun
3.3.4 Gevaauianssudulimnm 5 4 4 5 5 460 055
TunewlFesraimnyas
3.3.5 wanzanfunafisaRans 5 4 4 4 5 440 055
3.3.6 fzeulidausonluianssu 5 4 4 5 5 460 055
3.4 Femedund/ uaansduul 5 5 5 5 5 500 0.00
3.4.1 agnpdesiLAanTINNsEes
3.4.2 wunzaniude AnNaulaaz 5 4 4 5 5 460 055
AITNATNTOVDNE FEI
3.4.3 FpnauladoeliifiansBaw 5 4 5 5 5 480 045

1H39
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;1979 17 (Aa)

AZLUUNITAIITIUN
SR mmé’tﬂ'ﬁﬂfamty AuUR X SD.
1 2 3 4 5
3.4.4 Uszndiaaanlunisanu 5 4 4 5 5 460 055
3.5 nMsdnuarlsriliung 5 5 4 5 5 480 045
3.5.1 aBAARBINLAAUszasANITEES
WAZANTENIEYUS
3.5.2 wisastieiiTammnzaniuna 5 4 4 5 5 460 055
ANNANNTOUAT I 10 FHY
3.5.3 4adINNTTAAING 1ARAR LAz 5 4 5 5 5 480 045
NTTUIUNNT
3.5.4 nmafafiszylanansousniivly 5 4 4 5 5 460 055
4. Tupng 5 5 5 4 5 480 045
5. waslufianssy 5 5 5 5 5 500 0.00
6. LRALULLNARAY 5 5 5 5 5 500 000
PIUANBNNGEY 5 5 4 5 5 480 045
1. ﬁﬁimlum?ﬂﬁu‘?\mmﬁnG*ﬂu%mu
2. a1szneieuiaenaiesiuqmilszasdng 5 5 4 5 5 480 045
GFeug
3. luaag 5 5 5 4 5 480 045
4. luhanssu 5 5 5 4 5 480 045

FaNLRRS 477 038




aepuan A Ussiiuanudanaaadseninedadeunuqnilseasanisisauiuas
pamsdsTiiuanuganaaassznitsiasaunuqnlseasinisiEaug
S EXE TR R

wUUszI A UANNEARRBITDIHLLNAFBLTAAINAINITA MUNNSTA LTI
a ot ¢ @ [ Y ¢ < | ac
nAAMAnsNNdauMsalun AN ENUnlsEaIANsEEuS 1529 aNERE

o v o & & g oy <t % ° [
n'\?LLnﬂm“’]d'\ﬂ?UunLﬁﬂu‘ﬁuuﬁﬁ}lﬂﬂ‘]ﬂqﬂw 1 “ﬂﬂgmi SMEP 271u9U 12 24

AT uag
TsafansaundiuuunaaeuusazdesanasasiuqalszasinisFouinninun
A * dl [~1 a o o = d‘ / 4
visald Fsuuunsasuiuiuunaaauatiadniy neaoursesnuie v aeludesuanis
} 2
RANTOUN FNNANABLTLIBVING A3
dl' 1 (P24 o d 2 o’:/’ a
+1 HauiladndeseuinuanisBauininqnilssasAiuai
o wabluwllaersaubilddndessudnuanisiFauinuanilszasfiuas

' ¥
-1 wawdlandessulilédananisBeuinuantszaiAtuass

] AZLLUY o)
- anlszaen . A
LUBAU - o Aadau NITNINTTUN LdUua
ﬂ'l?lﬁﬁlug
1|0 | -1 | s
qwﬁ%‘ ANTOUD 1) Kong sold 12 watermelons the first
nas ﬂtym‘ﬂ’m day, 19 watermelons the second day, 26

AU | AMAPANERTNA | watermelons the third day, and so on. In

= Ld

LL‘Ll‘ngiJ NAn1UN1Teld | this pattern, how many did he sell the

Adlunen seventh day?
fannEi 1) fimsmnsumaluluduuenls 12 gn dun
nua 4 ae3ls 19 gn Sunawls 26 gnuaziiluly

Tnelfgnedd | gluouillFess esnnmaudndui 7 a0
I ol
nM3ALI azaaunaluléingn

uuugyls
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AREBU

ATLLUU

N1SNINTUN

+1] 0 |-

U8
tdua
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2) If the figure on the right is continued.

How many letters will be in the J row?

BBBBBB

Cy Cj Ci C

2) fansaungUinnwua i waoniie
/- ) o
winsafdagnIn i dInglliduliies)
WAUIUAEN NI EIngE g

4 -~
nusznavdaesingns J

3) Each square tile has 1 dot and 4 lines.
If we continue this pattern, how many

lines for square tile with 20 dots?

3) ARUNTALMIWINgUAMANARTauAA S
b % b LU
neulsznaudiag 9ARTINATN 1 qauazid
YOI 4 WEUAIN A1) BTl
TuuuuglithlFes ) eaannsuiipeurin

1 20 9m azUszneudsaduianuniidu
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174
. ATLLUU A8
& nilsrdsn . -
LMBUI - o UAARAU NMMFNINTTUN VAU
n15Ls8Us
¥ +1 10 | -1 Hug
QVIﬁ?J":ﬁ' AN 4) Jom went to a stationery shop to buy
N1 uitfoyumg | some pens and pencils. He spent 75
@579 AMAAEATN | baht altogether to buy some pens and
AT | Haounisal pencils. Each pen cost 10 baht and
Mflune each pencil cost 5 baht. He buys pens
‘ﬁ/\?ﬂqwﬁ less than pencils. How many ways did
Avua i he can buy it?
Tnel4eneds
N9454 4) PunnliSunarreadauiede
AT LA Unnuaziuas 1w1a1aku 75 um Tag

17nNIAINAZ 10 LW LASAUEDUTINAY 5
oo n’: d. d”

U AUNTTNIUNATNINAZTBUINATAL

Augaulnanauu NN Ndesadtias

NINNUINALED

5) Pat had cows and ducks in her farm.
The animals had 58 legs and there are
22 animals in all. How many cows and
ducks did Pat have?

I @ My o 4 4
5) LLWVlL@EI\?’JQLL@SL]J@I1’J@’]N’J‘LA‘M‘L¢\‘J ($N13)]
Yuanganiuld 58 a1 diusadndsaniu
16 22 /7 sennns Ui unniaes s iile

1Hasineaznsn
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1 AZLUU U8R
& anlszasn . -
AU n UYBHDY N1SNASTUY | LdUa
nsiFaus
+1 011 LU
6) Aung, Bam, Kim and Ja go to the ice
cream shop to buy some ice creams.
They like difference flavor of ice creams
are chocolate, vanilla, strawberry and
rum raisin. Aung doesn't like chocolate,
vanilla and rum raisin. Bam doesn't like
chocolate and rum raisin. Kim doesn't
like rum raisin. What flavor do they buy?
6) 64 wun Anuazanldeloariuisn
seleamawimils Jensdauaausad
uansiniuAadaninuan alian anselLess
uazgninataedalisausadeninuan o3
a1 uazqnina uunliteusafeninuan
wazgning Anligeusagning as1nnsu
fj'lLwiamm:Lﬁfan%y@‘lfaﬂn?ma’lmﬁw
gNesn | AMN90 7) Sa is three times as tall as Toon. Toon
n13 ufitleyuamng | is 95 cm shorter than Pa. If their total
@ | ABIAANARST | height 395 cm, what is Pa's height?
A | Hanunienl | 7) a1gendinuanuiyin @mﬁyﬂndﬁm 95
whe | Wdunen | ufes t’iwmqmmmfngwfqmmu
W1 fe‘f\*\nqwﬁ Wl 395 aamANgaresnt
NN fuuali 8) Beam gets on an elevator at the first
Tneldemsas | floor. She goes up to the eighth floor
MABEUNIN | then comes down 3 floors. She then
WIBUNUNW goes up 9 floors and down 2 floors. What
& floor is Beam on?

8) TNAUANRTUR 1 wTusie ldedun 8
ANtRIAINIaN 3 Tu Aulldn 9 Funay

P M | Ve A
AINIBN 2 FU QeI Duettunmnle

@
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. ATLLUY - R0
> anilseaen . -
LUAU - o YRHDY NISWANSEUN | LAUB .
ﬂ']ﬁ‘L'a‘Elug i
+1 0 |- LbU
9) Yim, Ohm and Ping have to ferry
across a river. They small boat is big
enough to 110 kg. Yim, Ohm and Ping
are 85 kg, 55 kg and 45 kg respectively.
Everyone can paddle a boat. Find the |east
number to transport them to the other side
of the river.
9) fin Tanuasih daensdinuusdtiniely
TneliFewnaandn aleganiman uazdy
wmintfides 110 Alaniu Gedin law
uazTh wiin 85 Alaniu 55 Alaniu uaz
45 AlanFupnaay fnauwisEeiiiy
. 1,8 T\ L
aAUIUTeLNeENganas Iiiaau
b ] 0” ¥
Audmun 1A
gNeI0 | AIMI90 10) After finished school, Pim walked 15
ngAn | ufitfouuamag | minutes to her house. She had 1 hour 30
Uy AMAAEATT | minutes to help her mother to cook. She
fini fan1unn9nl | needed 45 minutes to do her homework.
nay il She finished her homework at 7:45 P.M.
MEBINE | What time did she leave from her
o ,,
ARuA 1 school?
Tneldigmsan | 10) nasan@nia RnAunautinuld
NITAALLL 1981 15 W anungaaudniewis
faunauld | Tnaldan 1997930 wh uaz e

N19TU 45 WA Bnanistinaia

19.45 U, auatfilnaenainlseizau
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11) Su went to the market. She forgot to
check how much money her mother
gave to her. She bought some fruit for
230 baht. She withdrew 200 baht from
the bank. She bought some vegetable
for 85 baht. She left 355 baht, how much
money did her mother give to her?

11) alupans usAIIRU@RuUNT

q
b2 ¥

Wegav99 WrTanaldl 230 UMW WNnaw
RUANTUIATT 200 LM a7 TaLn
85 1M frnAaRUeE 355 LM AW

o A & g
AMuIURUNUN1Y

12) Jack gives Max and Por as many
rulers as each already has. Then Max
gives Jack and Por as many rulers as
each of them then has. Finally, Por gives
Jack and Max as each has. If at the end
each has 168 rulers, how many rulers
did each have at the beginning?

12) Wdanlsldussinudiauazawindy
Sunufiusazauiled anduuiauidl
vsrinlfiudauazemniuduauiinga
wazteiaguda gaaviralaudaliivsviali
Wiauazuiaviiuduiiuiauasudiagl
agua ffneigausazauilliiusiaay
Az 168 14 pENNIUIIANUAR AL

YT AALAZTIEN
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1919 18 UWAAIRANITHANTIAMNADAARBITENINTRdRUALARLsEaIANST IS

PRIHULNARBUIAAINFEINTA NN T UMINIAAANEATNA
[ [ % )
dorunisatlununaings

NANISNATURIH LT EITEY

T . - ~ - - loc
AUN 1 AUN 2 AUN 3 AUN 4 AUN 5
1. +1 +1 +1 +1 +1 1.00
2. +1 +1 +1 +1 +1 1.00
3. +1 +1 +1 +1 +1 1.00
4, +1 +1 +1 +1 +1 1.00
5. +1 +1 +1 +1 +1 1.00
6. +1 +1 +1 +1 +1 1.00
7. . +1 +1 +1 +1 +1 1.00
8. +1 +1 +1 +1 +1 1.00
Q. +1 +1 +1 0 +1 0.80
10. +1 +1 +1 +1 +1 1.00
11. +1 +1 +1 +1 +1 1.00
12. +1 +1 +1 +1 +1 1.00




MARUIN 9 ATAMNEIN (P) A1ETUIRRTWUN (D) ANANLNEA (T,)

A1919 19 WRASAIAINEIN (P) ABIUIRARTRUN (D) WAZAIAINLNES (1,) UDS
wuunagauInANNEINITe lumsuATywImsAlinAaRTRNda Ul

wumudangu (12 4a)

\lamn ) ANANNENN (P)  A1AUNA]LUN (D) an1glseLiu

NEIBNS 1. 0.67 0.25 510
Aumuuygy 2. 0.61 0.31 510y

3 0.49 0.19 14

gNEIBNIT 4. 0.55 0.13 1145
A5719A1979 5 0.34 0.22 it
6 0.52 0.29 1416

gNFIDNNT 7. 0.31 0.41 16

@ 8. 0.51 0.15 141414

NTAUNUNN 9. 0.47 0.14 1114
YNFINNT 10. 051 0.44 115
AL 11, 0.58 0.47 1516+

Haundu 12, 0.01 -0.01 1115

WNILLUG): AADIILTIEN () TRULUNAFBLWINTL 0.47

o o o olg e o \ ~
Ransaunudan g lalunsasiiiann
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1) If the figure on the right continues. Al A é

How many letters will there be in the J row?
BfBf{B§B l Bi B
CiCiCiyC % CiClCicC

2) Aung, Bam, Kim and Ja went to the ice cream shop to buy some ice cream. They
each like different flavors of ice cream. They are chocolate, vanilla, strawberry and rum
raisin. Aung doesn'’t like chocolate, vanilla and rum raisin. Bam doesn't like chocolate

and rum raisin. Kim doesn't like rum raisin. What flavors did they each buy?



114

3) Sa is three times taller than Toon. Toon is 95 cm shorter than Pa. If their total height is

395 cm, how tall is Pa?

4) Su went to the market. She forgot to check how much money her mother gave her.
She bought some fruit for 230 baht. She withdrew 200 baht from the bank. She bought
some vegetables for 85 baht. She had 355 baht left, how much money did her mother

give her?
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TuNsENANEIN 1 uangns SMEP

m519 20 NMsslFauisuANaINNsa luNsRA Y INIIANRAERTIRSNNITEIY
NAULATHAITHUMLTANANTINNTITEUTANUUIANTRIINAEN
Magnsasnsuiilymiiaduasauanuaisalunsuiilym
MeAdaM AR RS daunsontlumEndange duiutnieu

3 ol =9 e q. e
TUNBENANEIUN 1 wangns SMEP

Paired Samples Test

- Paired Differences

95% Confidence

Std. ~interval of the
Std. Error Difference Sig.
Mean Deviation  Mean Lower Upper t df  (2-tailed)

Pair1 pretest- posttest  -8.67857 4.55464 86075  -10.44467 -6.91247 -10.083 27 .000
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2.1 fiangssnnsizaunisdauiaNingula

2.2 inFausnisal iR ndusenlunisdn

s = 1 %
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3. AUNARAR
o = b4 ¥ ¥
3.1 dnGeuiang Ansdnlalunisufidoyminig
AinAaasIae g nsasnisAunawuLgL n19asia
FNT19 NIFITEUNTNUTBUN U NUAZANTAARLIL

4 o
HAUNALY

3.2 dnFauaimisaiiuuAnuazianissnge lute

q

Aanssulidssgnaldlunisufiilywinispdinaaning

anunsalidunimdangwli
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4

HANNTNATURIELTEITTY

Had - a., - - - loC
AUN 1 AUN 2 AUN 3 AUN 4 AUN 5
1.1 +1 +1 +1 +1 +1 1.00
1.2 +1 0 +1 0 +1 0.60
13 +1 1 +1 +1 +1 1.00
14 +1 +1 +1 +1 +1 1.00
15 +1 0 +1 0 +1 0.60 |
16 +1 +1 +1 +1 +1 1.00
2.1 +1 +1 Y +1 1.00
2.2 +1 +1 +1 +1 +1 1.00
2.3 1 +1 +1 +1 +1 1.00
3.1 +1 +1 +1 1 +1 1.00
3.2 +1 +1 +1 +1 1 1.00
3.3 +1 +1 +1 +1 ' +1 1.00
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AMNARLAULANLAN
AU e fidantnny
(e )
PV Lol
FUAPBU T oo

A1519 22 KAASRIANITAATUIANABAARDITDIMU LA NN UUDIUNLTBURKITEUY
ARETANANTTNNTITEUTANLUIAATRIINRENAYEENEIBNITUNLTeY1
Wadaadiuanaansalunmsuidymmadnmansnasaiuns
Hlunwdangy dAwduinFaududsendnuilii 1 wingas SMEP

HANITNATUNUDIENTAITI0Y

€

< < < < < 10C

AUN 1 AU 2 AUN 3 AUY 4 AUN 5
1. +1 +1 +1 +1 +1 1.00
2. +1 +1 +1 +1 +1 1.00
3. +1 +1 +1 +1 +1 1.00
4. +1 +1 +1 +1 +1 1.00

5. +1 +1 0 +1 +1 0.80




mMaAnuan i gatanssunsBauilagldgnsiinsufidywinadaaiuannuaansa
Tumsudtlymmendinmaniitaniunisaiiumunsaingudmiu
tnFauduisandnuili 1 wainans SMEPTAT 1 #NBIBNITAUNT
LL‘U‘]Jg‘iJ (Finding a Pattern)

%A% 1 gnaIan1sAuMILLLSY (Finding a Pattern)

9 Q

ANang
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gofanssumadend Snduindendusisendnundd 1 winges SMEP Zavniawdia
LAt asdiamANaasal . nsuddiammensinaanfidsonnnsalbdunuisenguuas
Eobsein thazhdlwb%antedmiuagintutiusznaunisiadianssunistiaxnnissant Fiudnsan
Toesgpiianssansiianimopsiamans aansiindinas 4 19 sk

wofangsad 1 gvedinnsdausmwuygl

gdanssad 2 evaifnsainemsne

godanssad 3 gnadinnsTasmaGannnniy

gfanssd 4 gyadinsBakuudonniu

gafianssunsianinismuoAnsastuasnfangnsdfswidann sHadoads
aansntunawdidlanmsadindanifisisonnsaliduniuidenge Sufusiniands
Seen@nwrda 1 wingns SMEP adiusida dsianguas yndanssadi 1 gmadinsfusmmwuugal
asznavdion ATA9 bA%NSINNGTLNS TUANNG 1aaelURINIIH LALARELUUNOFAUNES
Gan Foluaand Laanlufianssuwaznasemuuyasausdisa Ldindivelugubuuniuntng

wazmwdongu tHalAngdsan loannsiiandtonemasarnnsnnisn
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gofanssunsdeni ot 1 Basgnsifnsiumwuugy (Finding a Pattern Strategy)

589

A

st

Auag

wHkASIanEFeusT 1

Finding a Pattern of number

1uAINg MIMbUUUVAI NN

Worksheet (Key) Finding a Pattern of number
vaagdufiangss NsbUUgUvad %

Finding a Pattern of Picture

Turaad M uugUvasgUnH

Worksheet (Key) Finding a Pattern of Picture
wagdufianssn MsubuUgLvaUMH
Worksheet (Key) Finding a Pattern
baaglufianssn Msauugy

Test (Key) Finding a Pattern
LRRYLULNOFEY NSH UL

h~4
:ocegfe

—_

15
18
21
24
27
31
35
38
41
44
47
49
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gofanssunadeng gadl 1 asemaisnssumwug (Finding & Pattern Strategy)

| |
1. gofanssNnIssSaRin s aAnIastHae gt MEaEM sty sade fnauasng ol
widmnendamaniAidanmnsaibinnuidengy Sasusadeniusisesdnundd 1
#8ngns SMEP Usznavudion 4 a1 fiosk

godanssadi 1 gvadfnnsduawuusy (3 Falaw)

wofansssd 2 gvaifnsatnemsne (3 Falwe)

ﬁmﬁaﬂsﬁw‘fi 3 YNFIFMSTURNHITALARMH (3 FaTwo)

gofanssadi 4 gnaifmsAeuuudanndy (3 Falaw)
Toegpfanssansdani aduse wianssad 1 gnadinsdumwuus
2. pgpasBnurgefanssanssennaliunasansintunsaes IoneFendantsinnnsiani Lo
azAseldintan wasfixnsEenmsmannsinnsdany  Taensianasuniluinnannig
wiiflgmnazlinszuunsudilanameuwnodouasivag Fousnavdon 4 Iunansed

fumand 1 %%ﬁﬂaam,iﬂaﬁtum

fumanushiindudadinvasmsnitigmn Toadiaenisdostausen leBasestaomunnssinig
aslarnaniThiummeBongulé Taekiaainnswalaindnd sosdemsuwilasonmunssifidnmuads
Bpsesteditandinrue wardefitanddasnsmntls

fumandl 2 dnaowmamditigen

Junansl o dudidnianasdasianlossninsdanadanunsolimuatFituded
§29015N31U  IRANNENTUS T Hagn9ls L‘ﬁaﬁw%mL,mew?auwﬂ%mmﬁﬁmm bAZLAAN
gmeaEassianlElamanddigon

fumawdl 3 Fudndnnanoman

umaudidiunnandidasanrdiasasfavfiifinsuwaniianotiniotuinnand 2
%nsETiewAmale

umoudl 4 Jumsaasavna

funansidindumaniidnianadiasnsmausmauiiteinsenadosiulasatadanty
Amrualilusnnnsalbals wardeaansadiasoninfidnnavs 9 Tidiwlytigidnuiats e
SemetBaudiactaetunsidloamdiasdiusisindals
P IEER RV ORI COEREFE R
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FONINTINDHTANG Wﬁ 1 b3a9eMeifmsAnsrmungy (Finding & Pattern Strategy)

r- Iré
bHRNINNSTANTN 1
woloana e MIwN g mMeatinaans Fusioen@nurddl 1

Fadiardas eEABMIANI I
-1 A
AN38Nw 2556 SNALILURN 1 vaa1 3 Falwe

EOMEECRE R

11 fmaandmentinatand ¢ wlaldidnier
STINIOM B UUIUVBIINHIUL AL UUFUVAIFUMN L6}

12 fuinuskacngz IR EMeAtinanans ¢ wSisldidndeamn
snansss T msasinmansAfiaanunsslidummndengudidinueisileat synsss
MIARMBLULFLT6)

13 fimqudnuondnsiorlszad : ihaldinden
Sl ebTanibazaiosintunsinen:

CREENYEEHTE
MIAnN v (Find a  pattern) tiunsdeasnedilqmmwasfnmmanndndindas

ayadisdnu s duszuuniasuwuugiinaninssidgmdang wisanaidinay

ofrmaudtazeiastudndindmaufigndas torunsnssasauings
danaSend/wardonaiend

31 Ha3fviest 1iae Number pattern (&neBedaann Tassnnssianiing Inennans
pstoans pandissnaduaznisindidanissas Inenaans adinaand sseussandnw
faxdae Taensznsaednuwninig)

3.2 Power point \589 Find a Pattern of Number

3.3 Power point \a9 Find a Pattern of Picture

3.4 TUANHE NIHILUUILUVE9IHIN

3.5 TUAIHE NIMLLUVUVa93UMN

3.6 TUTANTTN NI WVUFUVAIINRI%

37 LUNANgsN NI LVUFUVBIFUNMH

3.8 lufangsy MsmwuvgY

3.9 BUUNOFAIUNTHWbUUFY
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FONANIINNSLILINS wﬁ 1 45a9gnaifnshnsrmuugy (Finding a Pattern Strategy)

4. fangsunsIan]
Falaiod 1
41 fushningunien
sl sianiszsnes 15 il Fefeandeaded
411 agteingundes 15a9 wuugavasinnen Taansdeiavied t3a0
Number pattern disiniSesg (Wieanlszsnne 7 %9i) WsawvoThasidisinndesnanuina
finsanu-naukfeaduseasaen L uasiviest
412 vHemsassarnsgaIskinlatestndaudaatumaanasludadaidias
vagsinFen Asfiodmnatdiingeunay (Ahaavssanm & wd) siost
1) A03aTiak stnensenand Fangnasdiednd wandsn Tue kironed
SaensAaae LUz U Shvamasts
(AnTenAasnaudn A% HUUIUIASTHITEMINIMNAAATIERLATTULTEUANTIHAOI9
anfind Toeszezsinasrdnsidioadunnguianansiadinguiensznng)

2) wong1eRsa bowaain 1§ wiTanddaen 1+2+3+4+..+100 athols
(AnFennagmaudt Toansdugsendte 1 was 100 531919 2 WaT 99 5294919 3 was 98 18
Saolaaudied s 50 war 51 Fefinnsduddienin 50 4 waskacadensinaanids 101
Windudiofa TlFidnsiernidnsuleivingdn fnavuvasiBewndasisa 50 x 101 = 5,050)

4.2 dwaen
%ﬁ‘lﬁwmﬁszmm 35 W17 FefseaznBensied
4.21 AnSendnunlunaind asuwuuzLvasdnes (Lieanlssanm 5 w19)
122 agkasdinpiaafunasandudastunawidaminad fanadsnsdum
buUgUsaniunsz kg ImskaAnvas THae (LFbaandseannme 20 %) Toals
Power point, 1589 Find a Pattern of Number 95

| In Nan, a cake shop near Srisawatwittayakarn School arranged cakes on 7
shelves. She put 1 piece on the top shelf, 3 pieces on the

second shelf, and 5 ieces on the third shelf. If she continues
this attern, how many pieces did she put on the
seventh shelf?
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gafanssunsniend ot 1 L?aewaﬁﬁmsﬁwuwgﬁ (Finding a Pattern Strategy)

fudt 1 n3vraminladlgun (Understanding the Problem)
AglERassidn e deatiursasnavasidsvinacionswuastand
nanefisazls sandlenswalatandsurdongusdinsmunlve v
B shelf wnefionzls (acSennasnandt $u)
A1 arrange waedionsls (Antdenaosnaudn 3aons, t5e9)
Tandindaskfvnioarlssnts
(Anedenagsnerdt nsmadntumsiaciuded Aafuungaaadn 1 Fx
fufianomnadn 3 fu Fuflamamin 5 §%)
Tandifiaonannazls
- (Anwenacamaudn Smouwdntausudiin)
fudl 2 mamwwaunmuddgmm (Devising a Plan)
Agtifmuilinseulfsiunaondasinduasimantomuugy viu
ynmsdanawuug it nsiess duacdeatindatnets
(AnFenazamendn Saaudetahinaningusessdiou 2
(sisdndias 2))
il 3 aasmtunsnamas (Carrying Out the Plan)
1 3 5 7 q 1 13

+2 +2 +2 +2 +2

Gosas aelédmambinlufuiiinge 13 3%

fudl 4 nsmsssseuma (Looking Back)
aglidmanistindaunssasauna dndinasomutanddiasnguials
Andendaddmeuiiidigndasuialel FiEnensoasavediels
(AnFernasnaudn 1,3,5,7,9,13 wiazinomsisdudias 2 Smay

bii%as9mHTang)
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gOTangsHNIGLIeN] 'ﬁwﬁ 1 1589y MEBEMsANIL LU (Finding & Pattern Strategy)

m | Ohm has many chickens for sale in his farm.
Unfortunately, it has Avian Influenza (Bird Flu). The first
day, He has 150 chickens. The second day remains 137
chickens, 124 chickens the third, and so on. In this
pattern how many chickens does he remain in the twelfth day?
fiudl 1 navhaankinlatlgam (Understanding the Problem)
Al EBas e aaturasnsnavasindsrinas fanasasTandndofe
acls soafenmsalaTandnudengutinmuntng b
A3 unfortunately wanedisarls (AnuFennsnaudt Txaine)
A1 Avian  nfluenza (Bird Flu) stanafisazls (sintdenassmaudn tdndann)
A131 remain waefivarls (AnFenasanandn ﬁw%a%'ﬁm‘ia, AYat))
Tandladenfomaaslssnts (Andennsnaui SmanLiifivraagLomssiaz o
Toeduwsnfila 150 6, Juvisasdilhoriaag 137 fia, Sudianasiliundaay 124 éa)
Tanddiaemaanerts (dncfenaosnaudy SruanldThudoarluduidusas)
udl 2 maewmumaniflgsn (Devising a Plan)
aglERmashstasent Fusinaansdasinduasdmion gl bi%
mMIdebnauvgLvasimanindasinanadaindadnets
(AnFestasanandr aNMsdannazHuddsande Lukinanndnsasasudii
audiae 13 (anagvias 13))
fudl 3 aadndsunnsmamas (Carrying Out the Plan)
W T, Ty wnuendl 1,20
T, =150
T,=T,-13=150-13

Ty =T,-13=150-13-13=150-(2x13)
T, =T3-13=150-(3x13)

T %150-((n-1)x13)
aelé gutalalaamungfidmimedifa 150 - ((n -1)x1 3)

Ty, =150-((12-1)x13)=150-143=7
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fosln Lndumvividusansnansdals 7 d
sl 4 mamsasseuma (Looking Back)
AglidanaliniSeunsasauma dndnatomatanddiasnsaialsl
Andendadhfmerutidgndesuialsl FEnnnsasaauathols
(AnFeumasnatdr amwuugUitei150- ((n-1)x13) aaawnudmniui
eannaTandsinmuaniats
T, =150-((1-1)x13) =150
T :150-((2-1)x13):150-13:137
Ty =150-((3-1)x13) = 150- 26 = 124
NN RAdRUN UL SR TR IHTaNdS9mun )
423 Anbsendin Tufiansss nsmmuugvasien (Lfeavszanme 10 W)
4.3 fwagy
Uoalszanss 10 w9l FofianeacBengios:
4.31 Agwazdnbienang Lufansss DsmULIUIEsR NN Sondin Taegw
ALTenTNI% 2 A% BANNURALMTITHeI%
432 sﬁamsgaaam9qwgasmﬁﬂwaeﬁﬂfﬁﬂmﬁmﬁuw‘ugmaeﬁqm% Agdo
Aromasial i ndenatuasuanonasdonsin dof
1) huugUvasitmes Hdnustinaginels
(AnFenmasneudt gavasinondifansdasinginadnolnadnonds Fofiarsonaomudusiod
o8 iansianusin Teansasiudourtaanassionmandiyinis)
falaiodl 2
21 SusdninguyiSen
fusitsiaanszanss 5 w9 FeTsneanBunded
441 ﬂg%umwﬁaebmvgmaeﬁqm%ﬁﬂﬂﬁqwmtwﬁiﬁiﬂﬁﬂmﬁﬂmms’gwﬁ%
dost
1) Find the number in this pattermn: 84, 73, 62, 51,.. State the 8" term oy 7)
2) Find the number in this patterns 7, 16, 25, 34,.. State the nth
term(meu T, =7+9(n-1))
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4.2 fuaon
Sl oamlszanos 45 wit FefianeazBension
4.21 AFERANWILUANSG DI UVIUvasgMH (TFaanszanee 5 W)
222 agwazdnidavafiunesasdiudeatumsuidamningls

gNadinsmb U UveegUn NS ansiunszuansws i Inm Ak afnvasTuaen (15u9a

szanow 30 w17) 10913 Power point 1389 Find a Pattern of Picture Siosk

Each triangle in backrest pillow has 3 dots. If

backrest pillow?

1 layer 3 dots 2 layers 6 3 layers 10 dots

il 1 sviAaseintatlga (Understanding the Problem)
AglEBnenssiadintS e Neraduraannnavasindnsinas JaramvasTandndnadio
acls sondienswaTandmundengueduanwtng 3%
A9 backrest pllow wsnafisarts (AniFenasnadn nuande)
A1 dot wanedeasls (Andanrssmaudn 49)
A1 layer wnafisasly (AntFanAssnaud )
Tandludedfmmnsslasnls
(eSewnnasmaudn Tanddmmagaulansnmfesisiazgufistmonsds 1-3 wazan
YBIETHLIREIMbRLTY §i9%
9% 1 Fa Usznavsien 3 4
w2 fu Usznaudion 6 am
§mua% 3 ¥ Usznaudiog 10 an
Tandfisengmarls
(nSenasanardn Suavanvionunvassanstnieadiges
Rafingma% 10 ¥%)

nE
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ofanssumaeny o 1 Basyveiimsiusnuuugy (Finding a Pattern Strategy)

$udl 2 MINokkHRAIRNTIYH (Devising a Plan)
Azl gAnonaniiniSenshuaswdusinduasimanqmmasinanda viu
nFendonmmfuimongnuasimonsun hiaosdusiudadels
(FnLFenaaanandr MNNsELNnaTHUI
sulaanpdewndifimonty 1 S ey 2 an duda 3 = 12
suaswsdesdistnuondy 2 % axfmed 6 90 Tuda 6 = 1oe3
susnaaRenddinondu 3 f% asfinng 10 0 dufa 10 = 12344
g lUvesiman Saarinmanqmvasganssaries nduniiuasantiensmasaniesdi
Fmandu 10
fudl 3 SRR LAY (Carrying Out the Plan)
suaarBgaTistnonsn 1 $u axianag 3 am dude 3 = 142
suasResTifdnansn 2 fu axfeag 6 90 Fuda 6 = 1oe3
suamatbesdistnunondn 3 ¥ afanad 10 am Anfe 10 = 12+3+2
sUlansiardewdifinsnents n %%ja:‘s‘ifn%g%aﬂa?g 1+2+3+4+..+(n+1)
U SHyNANATINVEIAIINIG
S=1+2+3+4+_+(n+1)
S=(ne1)#ne.s32201 (2)
(0+(2); 28=((n+1)+1)+(n+2)+((n—1)+3)+...+((n—1)+3)+(n+2)+((n+1)+1)
=(n+1)(n+2)

2
figss ImaugaviennmvasgUansbuieaTiiaofasniinas 10 Tuwyndu

(10+1)(10+2) 11(12)
X 2 2
fuAl 4 smazasseuwa (Looking Back)

agliAonasilnnseunssamauna dndinasenmTanddasnsudals
Angendndfnaudiidgndiasdals iinnsasaavetietls

(AnFenassneudn aﬂﬂwvgﬂﬁlﬁw

=66 39

8296N%AMNEUMN LGN TaNgR1Hawsa L
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4 dag Y 3 o o (1F)(1+2
JUTMMRAYNVINARIRI% 1 THh NN 5 =3 390

4 dao 3 5 - , (2+1)(2+2
SUMHRRUNNHIHRINTR 2 F% avdapag) . =6 30

2 dao g : - , !3+1!!3+2!
SUSHRUHNHNINNIRTR 3 T% e ) =10 39

HUIBRALNUASIANE UAR LA 9NN Tandimun)

If the figure on the right is continued.
How many letters will be in the K row?

gt 1 anaviraansndinda

{3 (Understanding the Problem)

aglEAanssinsinbias feadiunaaennavasinduyikasdararanastand
nanafieazls sondlennswalatandmundengusdinmuntne Lis

Ard1 figure wanedieasls (SaeSenAasnaudd gu, sunw)

A1 letter wanefionzls (Anedanmgnausn fodnwus)

A191 row wanefieasls (ntienAInaudn wa9)

Tandlaudakimmanslssnts

(ndenaasnaudn Tanddmmundnandiadnuslomsazwaasiok

woatl 1 fiadnus A Ysznaudiondiodnusionas 1 6

woedi 2 dodines B YUssnaudisediodinusinuen 4 do

woadi 3 dladinus C Ussnaudisasiadnusiinem 7 ¢a)

Tanddiasnsnnasts

(Anemaasmandn Sraaudisdnusmundengudauoadivsnausion

fladnus K (woodl 1))
il 2 aanewannauwdilgmn (Devising a Plan)
Azt EAnanasidinS e stuaadudindvasdngiunasvas
fladinusdudwanfiodinus L%
nMIdenndfiuwnsvesfiodnuifudmnandiodinug

At inanundnsindadnols
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(AnFenmoanaudt MmasdenmazHuIdmondalakinaniiuausas
W 3 (Sisdudiar 3)
$udl 3 RTINS (Carrying Out the Plan)

W T Ty Ty STMTENT 1,2,n

T, =1

T, =T,+3=1+3

T3 =T, +3=1+3+3=1+(2x3)

=T, +3=1+(3x3)

T :'1+((n-1)><3)
wlfi gufieluvesmuugyfidmuetsifa T = 1+((n-1)x3)
Tyq=1+((11-1)x3) =31 ,
dloinusmundengud wenafilsznavdiongiodnus . K (1ol 1) Hvtomwe 31 6io
fudl 4 awngaaseuma (Looking Back)
aglidanasidinkiannsaasausa dudinasomatanddiasnsasals
Anendnddmeuiitdigndasmiels innseaavatiiets
(Rnfenpasnandy owuvgufilein+ ((n-1)x3) 1l n uns S
b0ava9fiodinus sasywAnduIteAmHTand S uunusalsl
09 A aslel T =14 ((1-1)x3) =1
b9 B azlé T, :1+((2-1)x3):4
woa C adléi T, :1+((3-1)x3):7
AHUILHANUAAUNFUWS b TIHB 9K TaneIfm1ue )
4.2.3 dnieuin Lufanssy msmwuvgUvasglmy (1vaanuszanse 10 %9)
43 %‘mqﬂ ' '
Wraanilszanme 10 w9 FofsnemsiBengiod

4.3.1 Agwazdnkiewang Tufangsy mIwwuUzLvaegmH
sanni% Toegwdlnfaninues 2 A% aanwbaaadiFausdes
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4.3.2 vHamsassanAnAIskintavastneses faatumuugvasinien Agdio
Boak HaL T PL SN NEULALLERIRNNAGKITY Siost
1) wuuglveegUmy Fanuodustiols
(nufenaasnaudn govasgUmTisinosdndinsinatnetaatnonds Sefiansonaaadasing
vasgsfanmdln Feanassdiugumuiiffustasidonvenevasgunulifitnsas fads)
faluodl 3
a1 Sudningumion
Sl amnuiszanes 10 w1t Fefaeandensiod
411 AgNUMIM3asET B UMM Tfura TandlotnEauitiym
donfion (Vhamnlszanss 10 wifi) ghosk

The following figures were formed using matchsticks.

< >

a) How many squares are there if the figure in the series has 28 triangles? (may 13)

b) How many matchsticks would be used in the figure in the series with 32 squares?
(mau 229)
4.2 fuaon
421 Enesenilufianssansunwuugy (Asoandssane 15 %)
4.2.2 AgwazstnbseuaaetufanssnnsnsuugUsonsis Tougadinsas
$m9% 2 A% aenamasemindudan (LRoanszanme 15 %)
4.3 Yz

2
o

L3e9aUsTHI% 20 ¥ FoNseabELORIR
4.3 ANSeuA b UUNOFAUNTWIUVIY
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5. neianaskarlsnfunangien
wialsisanadastuanlssaodnnaieny medemarss funanaiang Sgos

qenlszaodnaiesNidasns
Sonari/sndisng

alowna

MIVSHHAANA

wadsisnLe

1§ U UFU VR
CRBIREIRTTE RN
sU el

2. F1NFONIIYWINNG
AstaenanSTisiaonunsnt
wimudenquiifnsiads
Toe g nadinmafumwuy
516

Flona ¢

RNIHAN “AINNGNEES
Laumswidlenesinsnans
Fifimmaumsidiumundengs
Amuals Toelsgnadfons
AN RISTRTE LT

wASassialowa
Ludfianssw Mswmuugy
YBIAMHI%

Lufanssn Mewmuugy
Va9g UM

Lufianssw Masrwuugy
bUUNOFIU NI UL

NDENNT LA AN
MsUssfinea (Sowuu™)

3. Yenduacsiofininng
9%

iowa o

HNTHNN “Hgfingswnsa
MSLENIDANVAITNLTEI%
YT ALALTNNUTLEY
Nauueg”

bASaINaInHa
bUUFRNAHGFNTIHVAILNS %

bNDRANSUSAUNE (Sobbau™*)
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YN UIR HHLUNINIINL AL LUNGFAL

1 (fasufuage)

$1RMILITAR SHUAH bRYINNIHNIHY
1. anabintadlam | 3 (§) - tinadgntegndiasleaaensatantaniandinme
aels wasTanddiaonnsartsisigndiae Asudion
2 (#913) - Wi ladlgmnteiunedon Taesnsavuanteiniand

Trunazls wiaTanddasnsazls eigndas wneson
- tadlgunstagannasatsisintadloun Laanansavan
o Tanddmunasts wazlanddiaonisazls

2. DSI ARG
TOVILYE

3 ()
2 (38%%)

1 (flasfualge)

- wanIRNNENTIRS VBTN WazaBUISHHRINIINS
widgantegndias Luanza

- wanoANNEnTnSvaslaya loigndiae welafunationsa
MINELN LM

- wEnRNENTASYaeTawa Leiuneaanmsa LNaNTILESS
ANHENHRS ez RS U fouan9nsesitlam

3. NSHWARNG
NN,

3 (§)
2 (s181%)

1 (fiasnfuvse)

- af
- 9138
niae
- $dfmewidlm Ut g ligndaswazfinnsfnan sl

gnéias

MawideinlUisiegndas fnsfsangndias
MawidantUislegndias dAn1sfmaniunssamwts

22D
Be

4. MINIIRFAUNS

3 (&)
2 (381%)

G IETES)

- agUdmavlegndias awysol  finsnsssauNasiy
wan Luditandfmme

- ayldmaumaziinsnssasavsadiusiawlfitanddue
Tolaaiysol  L3dqinualiigndias

- lsinsagUAnauas LafinsnssaseLng

NI UIR AN
AsLARIBEIAL
80.00
~ 70.00
60.00
50.00

AITHINE
- 100.008RMNNTHITHNMSRSIDIAtineaniag Lxsssiudiang
79.00 FAHEwngatunssidamasinenaniagiusssiug

69.00 FANENIRLRMILNTeInatinaaniaglussfiurhunans
59.00 FAwNaEIsnluMsaTgmesinaaniadtussiunals

0.00 - 4900 $RaEansalumswidgnatinraniag Lussiiunssaiurlys
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**ameinsUssAnemuandnuneinforssaed

Amvdminizdo Wi (0) dm (1) & (2) Fhdlen(a)
Uszaion
Tdens Laidolader vinsaunsaoar | tindaunse vinSennge
felases 1981 deda v folae
w1tatatums saei tantalsd e 1als was
bSeI% NN harHAINLHES FANAbHEIS
Tumagang wengwtumMg weneNHInMs
wisungade bIENG WAOuSON | LSUnNG Heausan
Inmaesd Lumssans
e b%asedn
Nosoduns | leifelaufid | felauas fotauaz fotanas
Y1191% HITINFIIH Judervauinng | Jufesautums | Sufesaulums
Ujeifarsing Ufifindind U§difindind
Alesuseumsng | Aldfunaumang | Heduseunng
LAdmsa Hng I%§ w58 Fng L%§ 59
Wuv§oms Wutsonas
Aol sigie Femsinen | §nnguiuugewas
Wi TENHINNGYINGI%
WisTugiogniuas

fdusinndensdomstiens
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UL NGANIIHVBITNT IR

T T

O | [N O A e N

]

—
=

12
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Finding a Pattern is a strategy in which students look for patterns in the
data in order to solve the problem. Students look for items or numbers that are
repeated, or a series of events that repeat. The following are step-by-step process

in finding a pattern.
B Pattern of Number

In Nan, a cake shop near Srisawatwittayakarn Sch
cakes are arranged in a shelves of 7 layers.
1 piece of cake is placed on the top shelf,

3 pieces on the second shelf,

and 5 pieces on the third shelf.

If this pattern continues, ow many pieces wil be on the seventh shelf?

Understanding the Problem

You know there is 1 piece on the top shelf.

You know there are 3 pieces on the second shelf.
You know there are 5 pieces on the third shelf.

You want to find the number of pieces of cake on the seventh shelf.

Devising a Plan
ou make a strat gy in finding a pattern to solve this problem. To ’r‘lnd a

pattern, observe the sequence of the numbers on the difference between the i

d d d th
term and the 2" term is two, 3~ term and 2 term is two, the 4

term and 3 term is two and it goes on. Therefore in the number

sequence, 2 is added to get the new number.
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Carrying Out the Plan
ook at the numbers in the pattern.

1 3 S 7 q i 13

+2 +2
The number pattern is adding by 2 in each term to come up with the next term.
In the number sequence, 13 is the 7th term.

Answer: There will be 13 pieces of cake on the seventh shelf.

Looking Back

( hecking it from conditions, the numbers in the pattern are 1, 3, 5, 7, 9, 1,

13 the pattern is to make the next term by adding 2 from the previous term.

Ohm has many chickens for sale in his farm. Unfortunately, they have Avian
Influenza (Bird Flu). The first day, he has
150 chickens. The second day 137 chickens

remain, 124 chickens on the third, and so on. Using
in this pattern how many chickens will remain on the
twelfth day?

Understanding the Problem

You know the first day, he has 150 chickens.
You know the second day 137 chickens remain.

You know the third day 124 chickens remain.

You want to know the amount of chickens that will

remain on the twelfth day.
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Devising a Plan
~You choose a strategy of finding a pattern to solve this problem. To find
the pattern. Look at the numbers. The new number depends on the number before it

(subtracting 13).

Carrying Out. the Plan
Look at the numbers in the pattern.

t

1 term,T, =150
d

2" term, T, =T,-13=150-13

efd term,T3 = T2 -13=150-13-13 = 150—(2><13)
th

4" term, T, =T,-13= 150—(3><13)

n™ term, \( =150—((n~1)><13)
The number pattern for this number sequence is T, =150-((n—1)><13)
th
12 term, T1
He has 7 chickens on the twelfth day.

) =150—((12—1)><13)=150—143=7,

Looking Back

Checking it from conditions, from the number pattern for this number

sequence is T, = 150—((n—1)><13) when n is the number of days.
* day has 150-((1-1)x13) =150 chickens.
2 day has 150-((2-1)x13)=150-13=137 chickens.

3" day has 150-((3-1)x13)=150-26=124 chickens.
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Mafm L LInenadfudendnsausnsonasnbuusLludayas e
il Indnwaeassnenisudasiaaunsiinmtagnvasunnissintifin Feaounsaldam
baransaranNsosk Ludlentotaanis ity nadfauwuugy

buue ™R

& SmvenAndusie SeaglnaduTsasauaSaiandnennsdondnsiin

MoFuteiIngdnaeandionnn 7 I Taasuunge

29%ANTY 1 F% TUNFRINNAN 3 TH FHATINIIBAN 5 TH
fdnnsinaaAntikiae 9 Tutuugusienas
AYNNNIIUI N951%a2219LAN LA ERTILANINHINNTH

agvipaeidntadlamn

Tandanmuanas s AnTI1919 L s eias SHe9%
FAURGDNAN 1 Tk

*
kY

FUNFDINNAD 3 F%

14

o,

Fudiannadn 5 3u
TanddiaonsnsnudsawAntnEuwyiban

NN3I19LHHNTHITIUHN

bRangMEdENIANILLYIY s nnaznuiniinendatiiinan

NINNBUNEIVIN 2 (bHNTUTAT 2)
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NTRLARNITNTNLH
RAs Wb VUGY

foglst a oAt uibanda 13 %

NINIPFAUNS

AMUUIY 1, 3, 5, 7, 9 N, 13 WUIWAGARIBHANTRTRE 2 AmauLTIRATInN

Tangl

Usnvaslaskanstd L ihsaradimonnds Teasradis

Liudannszune Toaduwsnuyrdila 150 fa 3%
SR
sagvydaliag 137 dlo Judiaawudaliag 124 fo wazdh

xR

wiudaugubusiiahian @ aenamsudnlniuidusasazude
Hagifta

Msiraedntatlemn

Tandifnnuadnnen L Fvasaat Lusasinsod
Fuebanbaals 150 ¢

Judisanuiala 137 6o

Sudiansnndals 124 éo

Tanddiasnsnsrudmanliviniaag Luinnsusas

N19ILARNTLNTIQYN

bRaNgMEITNEAUIUVIY  MamsFanmazHudiiendatuiinnn
Fnandanuirausos 13 (anastiaz 13)
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AT WIHNTATHLAR

Famoewuugy W T,T,,. T, wnkvauil 12,0
T1 =150
T, =T,~13=150-13
T,=T,-18=150-13-13= 150—(2><13)

T, =T3—13=150—(3><13)

T, ¥150—((n—1)X13)
aléh guiolaeamuvgufifvmetifa T, = 150- ((n-1)x13)
T, =150~ ((12=1)X13) =150 - 143 = 7

Soouaz e i Sudiausasiuen 7 fia

NINI[IFAVNE

MUVZY T, = 150 - ((n=1)x13)ufla n wywdrawdn saswmudndud ldmmms
Tandsimmanialsl
Bussndilel 150-((1-1)x13) =150 4fa
Suftansndals 150-((2-1)x13)=150-13 =137 o

Sufianaundals) 150-((3-1)x13)=150-26= 124 dfa

THUIBNALYHATARNE UL AN LK TIMNTANE 199486
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Woerksheet (Kewy)

Wampee is an OTOP product of Nan. OTOP
shop sold 20 packs the first day, 37 packs
the second day, 54 packs the third day, and so
on. In this pattern, how many did they sel on the
sixth day?

Understanding the Problem

ou know they sol 20 packs the first day.
You know they sol 37 packs the second day.
You know they sol 54 packs the third day.

You want to find the number of packs of wampee that they sold on the
sixth day.

Devising a Plan

You choose strate y of finding a pattern to solve this problem. You

can find a pattern. Look at the numbers. The new number depends upon the number
before it (adding 17).

Carrying Out the Plan

Look at the numbers in the pattern.
20 37 VAl 88 105

+17 +17 +17 +17 +17

They sold 105 packs of wampee in the sixth week.
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Looking Back

Checking it from conditions, the numbers in the pattern is 20, 37, 54,

71, 88, 105 the next term is attained by adding 17 to its previous term.

@ Arm vants to close down his motorcycle

shop and try to sell it out. He has 209
motorcycles on the first week, then 130

motorcycles remained on th second week, 171

motorcycles remained on th third, and so on. In

this pattern what week will the motorcycles be sold out?

Understanding the Problem

You know on the first week, he had 209 motorcycles.
You know on the second week, 190 motorcycles remained.
You know on the third week 171 motorcycles remained.

You want to find out what week wil the motorcycles be sold out.

Devising a Plan

You choose a strategy of finding a pattern to solve this pro lem. You

can find a pattern. Look at the numbers. The new number depends upon the number

before it (subtracting 19).
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Carrying Out the Plan
Look at the numbers in the pattern.

t,

1 term,T1 =209
d

2" term, T, =T,~19=209-1

3'd term.,T3 = T2 —1q=2oq—1q—1q=2oq—(2><1q)
th

4 term,T4=T3—1q=20q—(3><1q)

n" term, T, =QOQ—((n—1)X1CI)
The number pattern for this number sequence is T, =2oq—((n—1)><1q).
Find out the number of the week that he will sell out the motorcycles.
0=209~((n-1)x 1)

0=209-14n+19

19n = 228
228
n=—=12
19

He will sell the motorcycles out on the 12" week.

Looking Back

Checking it from conditions, from the number pattern for this number

sequence is T, =QOQ—((n—1)X1CI) where n is the number of the week.
™ week has 209-((1-1)X19)=2O9 motorcycles.
2" week remains 209—((2—1)X19):209—19:190 motorcycles.
3 week remains 209-((3—1)><19):209-(2><19):171 motorcycles.
12" week remains T, =209-((12-1)x19)=209-(11X19) =0

motorcycles.
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e LA tIndum OTOP vasdeudasinn &1 51

W OTOP e ladinleiludountsn 20 win 3udi
gaoveld 37 Wil Judiannviele 54 wiin wasdlnts
wuugilabiag 9 agnansuinlududing 5% OTOP
aznge LiEn Leifusia

A3viAaeedntadlgenn
Tandsuuadsanse Luaun g dsuaazingos

Butksnuete 20 WA
Sudisanels 37 wia
Sudianuetd 54 wila

Tandidfiaonisnsudnnanss tuFudune el usndinn

N5 N9BARNIHNTIQYMN

baaNYNEIENTARMBUVIY NnNsFeNnacHUNI IR LU inNI%I%NBRHE
w3 17 (bHNINTIaz 17)

ATANEHRNITATHLAK

RSN UVGLVA93K %,
20 37 54 71 88 105

+17 +17 +17

oK% arlennanN THIUNVLELHRINNNNAE 105 bHA
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gofanssamaieng gl 1 asgmaiinsfuwuug (Finding a Pattern Strategy)

NINTIAFAUNS s
ANV 20, 37, 54, 71, 88, 105 WERAHIMHN ISR 17 AeaULLIHAZ

ariudiaenisdnfansiiniungsadnsensens bnae

« weeHesLHuNa A% 1 lndUadusneund
sodnsenuemeiiines 209 A Taduaniviaasanuia
sodnseneneidmion 190 A% wasluduavifiasannda
sodnsenuenediimuon 171 A Sednlngumuniiihiag 4
aemnsrudlnduanivihiints Lnasnasodnsenuendtdias

PHOVNAN

MIrsdnladieynn

TandSmmedonsainsenuandiidaas Ll afasdanisor
FUNMLINHINAINTUBRANI% 209 H%
Fumnivisasndasningenendimgs 190 A%
Fupnifianaufasodnsaniedidnes 171 A%
Tandifiasnsmsrudunifianinesodnsensesidomnnsurunynis

N1IITLARNTHLNLIYHN

baangMEdIENsARIUVIY NNsFaansHUIINTn T IR IRIHIaR
uhk1ausion 19 (ann9vias 19)

P

NFRLIHNITNIHLHL
Rangowmbuugel 9 Tps TpsTh WYILIANT 1,2,..,n

T, =209
T, =T,-19=209-19

T, =T, -13=203-13-19=209-(2X 1)
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gofanssanadend yodt 1 Basgmaiinshusnuuugy (Finding @ Pattern Strategy)

T, =T,~19=204-(3X1)

Ty =209-(( ~1)X1a)
aeléi guialauvaswugficunelsife T, = 209~ ((n— 1)x19)
i mandeihinesodnseuend i finsumwaynio
0=209-((n-1)x 1)

0 =209-134n+19

19n = 228
228
n=—=12
19

NINIIRSFRUNG

ALY T, =209~ ((n=1)x19 o5l n 6% Fonduland sasyudmmdy

Nnlemmutandinunansals

g o

Ao NSisnIngenneneii o 209—((1-1)x19):209 B%

]

Hlainsenriasninsen%awiinnn 209- ((2 -1)x1 9) =209-19=190 A%
Funifiansnndasodngeneidiins

209-((3-1)x19) = 209-(2x19) =171 Fx
FUnnsifidusasiasnineeeiiLa%

209-((12-1)x19) = 209-(11x19) = 0 A

LUV B HBLNHATIDUNA UL A LIS 9N Tanginaue
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Each triangle in the backrest pillow has 3 dots.

If we continue this pattern, how many dots wil

there be in 10 layers of a backrest pilow?

1 layer 3 dots 2 layer 3 dots 3 layer 10 dots

Understanding the Problem
You know that 1 layer of triangle in a backrest pillow has 3 dots.

You know that 2 layers of triangle in a backrest pilow have ¢ dots.
You know that 3 layers of triangle in a backrest pilow have 10 dots.

You want, to find the number of dots on a 10 layered backrest pillow.

Devising a Plan

You choose a strategy of finding a pattern to solve this problem. You
can find a pattern. Look at the numbers.

1 layer of a triangle in a backrest pilow has 1+2 = 3 dots.
2 layers of triangle in a backrest pillow has 1+2+3 = 6 dots.
3 layers of triangle in a backrest pilow has 1+2+3+4 = 10 dots.

Make a formula using the given conditions above, after that find the

sum of dots in a 10 layered backrest pillow.
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gafanssamaidens gadl 1 tSasemsifnssusmuung (Finding a Pattern Strategy)

Carrying Out the Plan
Look at the numbers in the pattern.

1 layer of triangle in backrest pilow has 1+2 = 3 dots.
2 layers of triangle in backrest pillow has 1+2+3 = 6 dots.
3 layers of triangle in backrest pilow has 1+2+3+4 = 10 dots.

The n” layers of triangle in backrest pillow will have 1+2+3+4+...+(n+ ) dots.
Suppose Sis sum of dots.
§=1+2+3+ 45 +(N1) e (1)
S=(ne1)+ne.e30241 ot (2)
(1)+(2); 2S=((n+1)+1)+(n+2)+((n~1)+3)+...+((n‘—1)+3)+(n+2)+((n+1)+1)
~(re1)(n+2)

n+1){n+2
8:
2

10+1)(10+2 112
Then 10 layers of triangle in backrest pillow wil have (10-1)( )= ( )=66 dots.
2 2

Looking Back

n+1){n+2
2

1 layer of triangle in backrest pillow has (1-1)(1-2) = (2)2(3) = 3 dots.

hecking it from conditions, from sum of dot of n layer is

2
2 layers of triangle in backrest pillow have (2+1)2(2+2) = (3)2(4) = 6 dots.

3 layers of triangle in backrest pillow have (e 1)2(3+ 2) = (4)2(5) =10dots.
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Understanding the Problem

You know there is 1 letter in the A row.

You know there are 4 letters in the B row.

You know there are 7 letters in the C row.

You want to find the number of letters in the K row (11th row).

Devising a Plan

You choose strategy of finding a pattern to solve this problem. To find
a pattern. Look at the numbers. The new number depends on the number before it
(adding 3).

Carrying Out the Plan

| Look at the numbers in the pattern.

1St term, T1 =1

2nd term,T2 =T1+3=1+3

3 term, T, =T, +3=1+3+3=1+(2X3)

A" term‘,T4 =T3+3=1+(3><3)

n" term, T, =1+((n-1)x3)

The number pattern for this number sequence is T, =1+((n—1)>< 3)

1" term, Ty = 1+((11—1)>< 3) = 31

The number of letters in the K row is 31.




154

gofanssnmaiieng it 1 L3asgmeBinsdusmmuug (Finding @ Pattern Strategy)

Looking Back

Checking it. from conditions, from the number pattern for this number

sequence is T, =1+((n—1)><3) where n is the amount of row.

A row has T1=1+((1—1)><3)=1 letter.

B row has T, =1+ )= 4 letters.

(2
C row has T, =1+((3—1)x3)=7 letters.
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gofanssumsiang @i 1 Basmainnsdusmwung (Finding a Pattern Strategy)

} EHLARNTN NN
VLIS TTERT

cRee

s1ank AL ATI0%

§3 % 1 3% acdqmag 3 am AuAa 3 = 1+2
sUaHRNTISE I
§4

% 2 F% azHamag 6 30 A%Aa 6 = 1+2+3

(3
o

JUMMHBUNTIHIUINTH 3 % axdigeag) 10 a9 FHPa 10 = 1+2+3+4

v cRee

salamsbsriendisinante n $u afimonqeny 1+2+3+4+ .+ (n+1)
1H SuyUNaIInIRIIHINIG

S=tr2edvar.c(net) ... e (1)

S=(net)ne 2302 (2)

=(n+1)(n+2)
n+1)(n+2
v 2 ¢ 1 ¥
AU MUIUATIMN AT FU AT NMRENT B EFaR U 149U 10 Fuvindu

(10+1)(10+2) _1(12)

S=

k24
Y

=66 A0
2 2
NMINTR_FAUNA
o o o o0 5 3 a n * 1 n * 2 <
AN UUFUHAIINVEINNIHAVAIFIHWRANNHINIUT% n F% A 9
2
1oiaastnumnaud tsimmuntandsmassalel
4 das % P o (1T 1+ 2
JUSHLHELNTINGUINTH 1 T zHamag) ) =3 30
24 dao g 3 “ , 2+ 1)(2+2
JUAAHRYNTIHIUIUTH 2 F% Ardqmag) , =6 39
dao z g 3+1)3+2

JUM IR HTINIUIUTR 3 % Azdasag)

rHUIL N IHAaRnE UL SR TIRAZIMHTANEf13%6)
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ofanssumaiend @R 1 Basgmaiinmsiwwuugy) (Finding a Pattern Strategy)

F5DUNTMUe Liwvadia winsiadiodinus A

aundengulubtiuditiagy aemninandiaBinusnundengu

al ) 4 4 B B B
Lunanlsznavisioefiadinus K

mambintatlgen

Tandfnmuninnandodinwslousakados

woadt 1 flednus A Ussnaudoudiodnwsings 1 &

woadl 2 fiadinus B Yssnavudinediodnusinian 4 6o

woadt 3 dadinws C Ussnavgioadadnusdings 7 @
Tandifiasnsmsnuiniandadnusmundengulaaeivsznavsionfodnus K (waedi 1)

13T ARNITLNLIQUNN

baangnEIEnsANILUYIY mnsdannaznLddiknin Lakinandmausian
WHIUINGIE 3 (bHNTATBL 3)

NI WIHNITNINLAR

UCRFN SIS TLTER TR i, , 4 BVHNT 1,2,
Ty=1

T,=T,+3=1+3

T,=T,+3=1+3+3= 1+(2><3)

T, =T,+3=1+(3X3)

Ty =1+((n-1)x3)
a:\di puieluvesuugiifrmeiRa T, = 1+ ((n-1)x 3)
T = 1+((11—1)>< 3)=at
fofufodinugmundenguinwnanilsznavsioasioinus K (wasdi 1)
Siovnn 31 6l
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gofanssumadeny gafl 1 BasgmaiBnsduaruuugyl (Finding a Pattern Strategy)

NEINIPFRAUNS

VORUVFU T, = 1+((n-1)x 3) L N YIHAIRINADD DEITIHANELI LGRS
Tandiiuunmsalal

@

LLQ’J‘V] 1 Usenausagsisfnwsanua 1+((1 1 X3=1 3

WOOT 2 Ysznaudinasiadnwsinnas 1+((2 )

LLQG‘YI 3 Usenavsioadiodnusinnan 1+(( —1 X3)

ATHUINLNALYIHATAR N UL AL TIHaT 9NN TANTRM%6)
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The figure shows a string of green and red beads with two parts hidden by

block P and Q. What would be the least total number of beads on both
blocks?

-

Understanding the Problem

You know pattern of green beads are 5, 4, 5, 4,.. and so on.

You know pattern of red beads are 3, 2, 3, 2,.. and so on.

You want to find the least total number of beads in block P and Q.

Devising a Plan

You choose a strategy of finding a pattern to solve this problem.

To find a patf,ern. Look at the numbers. The pattern of string of beads is 5, 3, 4,
2, 5, 3, 4, 2,... and SO on.

Carrying Out the Plan
Look at, the numbers in the pattern.
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gofanssanaiend gadl 1 HasynaiBnssusnmuygy (Finding a Pattern Strategy)

Block P has 3 green beads and block Q has 12 beads consist 5 red beads
and 7 green beads. The least total number of beads in block P and Q is 3+12=15.

Looking Back

Checking it. from conditions, if the beads in block P and Q are

included to the string, the pattern of the string of beads will be 5, 3, 4, 2, 5, 3, 4,
25... @Nd SO ON.

Suchart, arranged the hexagon tiles in a line.

He finds 1 hexagon tile has 6 lines, 2 hexagon

tiles has 11 lines, 3 hexagons tile has 16 lines. If he

continues this pattern, how many lines wil there be in a 12 hexagon tiles?

0 00 Q00

1 tile 6 lines 2 tlles 1 lines 3 tlles 16 lines

Understanding the Problem

You know there are 6 lines of in 1 hexagon tile.
You know there are 11 lines of in 2 hexagon tiles.
You know there are 16 lines of in 3 hexagon tiles.

You want to find the number of lines in a 12 hexagon tiles.

Devising a Plan

You choose a strategy of finding a pattern to solve this problem.
To find a pattern. Look at the numbers. The new number depends upon
the number before it (adding 5).
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afanssamadend R 1 Besgsiimsawnuuugl (Finding a Pattern Strategy)

Carrying Out the Plan

Look at the numbers in the pattern.

t
1 term, T

1=6

nd
2 term,T2 =T,+5=6+5

rd
3" term, T, =T, +5=6+5+5=6+(2X5)

n" term, Ty =6+((n—1)><5)
The number pattern for this number sequence is T, =6+((n—1)>< 5)4
2" term, T, =6+((12-1)x5) =61

The lines for 12 hexagon tiles with are &1.

Looking Back

Checking it from conditions, from the number pattern for this number

sequence Is T, =6+((n—1)>< 5) where n is the amount of hexagon tile.
1 hexagon tile has +((1—1)>< 5)= 6 lines.
2 hexagon tiles have 6+<(2-1)>< 5)=11 lines.

3 hexagon tiles have 6+ ((3 ~1)X 5) = 16 lines.
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gofanssansdend gaf 1 Sasemsinsiunuuugy (Finding a Pattern Strategy)

i thdunugnilasesd Hiuamariuneiianatutbedn Taef
anilnfigntanasdinudan P waz udan Q AIMAUIANRIINVRIFN T NHa Nge Va9

weiazUaeN

s intatlarm
Tand&mmmenuugrivasgndln siost

andlefleofbuugibiis 5, 4, 5, 4,..
anilofiaeeuugihdlsn 3, 2, 3, 2,..
Tanddiasmsnnasanvasgnilefidag Ngnvaskfiazuaan

AFALHRNTHN TG

baangMadinsAumuuil NNsdnaHURgnilafindnan 5 war 4
@ﬂaévﬁ%lﬂﬁaﬂ 95, 4y 5, 4ye... bATANUOTLOINI% 3 hBE 2 gﬂ&éﬂﬁﬂm’éaﬂ 93, 2,
3, 25 ﬁeﬁimﬂéwufugmaemsﬁaﬂgﬂﬁmﬂ% 5, 3, 4, 2, 5, 3, 4, 2,...

AT NIHNITNIHLN
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fanssunmadong il 1 Gasysiinsiniuuugyl (Finding a Pattemn Strategy)

asnudtnusan P signdefidusdnien 3 gn waruden Q figndle 12 gn
Usznausioe Swa9 5 §n wacihien 7 90 sonsasudenafignila 3+12=15 gn

msmoaaa‘ugea . . . e g .
§159388UN698% buTandazuudn andmauyitel ndutuyndusasfitansd

froruoncdwungavasnsiasgndentiu 5, 3, 4, 2, 5, 3, 4, 2,... AaaUdInsBemHTaNe

¥ faenseonanninyniesvingainn.sden 1

bb0aL LR FUNTI WU PARNSH 1 A
UsenaUsaehdisn 6 ba% PARNTH 2 fa% Usenaudioel
ba% 11 b8% AAANTH 3 Panlsznausioendn 16 bR &

winlugtwuuialon 9 asnanstudrencia 12 Hax

azalsEnavIsiogh do s do _

1 {8% 6 bd% 2 fia% 1 LA 3 8% 16 b&%

A3viRbdntadleusn

Tandiinmadinanquasdusasnanninnaingusntansion

PEANSN 1 $a% sznavsioeds ¢ ba%k

RAXNSH 2 Ak Ustnausioekds 11 ba%

PAKNTN 3 Nan Usznausiaendn 16 ba%
‘Eqm‘m’aemsvnsmi’n%amé%ﬁwwmaeg‘uﬂa%ﬂ%mem’ﬂgwﬂmﬁm«ﬁﬁmdaﬁ%

12 98%

NIALHRNTHNTIYM

beaNENEIENIARRBUVTY  MINMsERNnazHUIEMINTR LY
vinnndmausanuiruanees 5 (sWndndias 5)
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gofanssansiend gafl 1 Basymeifnsiusnuuugyl (Finding a Pattern Strategy)

NI WIHNITANHLAK

oy 8 T, T, T, wVRENTA 1,2,.,n
T,=6
T,=T,+5=6+5

T,=T,+5=6+5+5=6+(2X5)

Ty %6+((n—1)x 5)
2216 guvalahmauuguifoeltifa T, = 6+ ((n-1)x5)
T =6+((12-1)x5) =6t

AIRNSaMSTIgUNAL RN Sesatin 12 Sanusznaudion 61 L%

NINIPFAUNA

SRR Th=6+((n-1)x5) e n wykdmansexnin saswnuAInU e
mMATandN e usale
pavnin 1 Sl aszaeudisendn 6+ ((1-1)x 5)=6 %
Aavaln 2 diaw Ussnaudianndn ¢+ ((2-1)x 5)=11 ba%

PERTER 3 Sia% Usrraudioeds 6+((3-1)>< 5)= 16 1a%

AHUIBNALNHASARNE UL A LR IMHTANT1B%6
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If she continues in this pa tern, how many square tiles will there be in t e 8" form?

'Understanding the Problem

t

You know there are 4 small square tiles on the 1 form
: d

You know there are 8 small square tiles on the 2™ form.
d

You know there are 12 small square tiles on the 3* form.

You want to find the number of small square tiles on the 18" form.

Devising a Plan

You choose strategy of finding a pattern to solve this problem.
To find a pattern, look at the numbers. The new number depends upon the number
before it (adding 4).

Carrying Out the Plan

Look at the numbers in the pattern.
i term, T1 =4

nd
2" term, T, =T,+4=4+4=14(2)
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fofanssumsidend gafl 1 BasgneiEnsdwnuuugy (Finding a Pattern Strategy)

3 torm, Ty =Ty »4 =4+ 4+ 4=+ (2x4) = 4(3)
i term, T, =T, +4=4+(3X4)=14(4)

n" term, Ty = 4+((n—1)><4)= 4n
The number pattern for this number sequence is T, = 4n.
18" term, T, =4(18)=72

th
The square tiles on the 18~ form is 72.

Looking Back

Checking it from conditions, the square tiles on the nth form is Tn =4n.

i form has 4(1)= 4 square tiles.
d
2" form has 4(2)=8 square tiles.

d
3° form has 4(3)=12 square tiles.

Dania was overweight and his doctor told

. him to lose 60 kg. If he loses 15 kg on
the first month, 13 kg on the second month, and
1 kg on the third month, and he continues losing
weight at this rate, how long will it take him to
lose 60 kg?

Understanding the Problem

ou know he lost 15 kg on the first month.

You know he lost 13 kg on the second month.

You know he lost 11 kg on the third month.

You want to find the number of months it wil take him to

lose 60 kg.
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Devising a Pan

‘ou choose a strategy of finding a pattern to solve this problem. To find
a pattern, look at the numbers. The new number depends upon the number before it

(subtracting 2) then add each weight lost per month until you reach 60 kg.

Carrying Out the Plan
the pattern.

T

5

11 q 7

15 15+13=28 | 28+11=39 | 39+9=48 | 48+7=55 | 55+5=60

He will lose 60 kg in 6 months.

Looking Back

Checking it from conditions, the sum of the numbers in the patterns

15, 13, 1, 9, 7, 5 is 15+13+11+9+7+5 = 60.
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wfanssanadend R 1 Basgmaiinuinsmuuugyl (Finding & Pattern Strategy)

IR WARNTNINL AR

Fasoewuugd W T,T,, LT, WNHYBNTT 1,2,
T,=4
T2=T1+4=4+4=4(2)
T3=T2+4=4+4+4=4+(2><4)=4(3)
Ty =T,+4=4+(3X4)=14(4)

Ty =4+((n-1)X 4)=4n
w8 gulelvaswuuguAfwmelsida T, = 4n
Tig=4(18)=72
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5

15 15+13=28 | 28+11=39 | 39+9=48 | 48+7=55 | 55+5=60
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ONANTINANTIUH "erﬁ 1 Lsaewﬁaﬁmsmmmwsﬁ (Finding a Pattern Strategy)

Perm prepares to plant trees using the diagram below.

8 o o E;@ Tl

y »Dﬁ

ANEKLY] ﬁ:@m ¥ ’%{ K

PRy o

- ol “fa BiS

B Vi *&f ¥ ¥ o

§ wa s e 2@ 7 B

i @pe 1Y

7 NS AR SRR VRIS

LEa csanii i

* form 2™ form 3¢ form

1 tree 8 tiles 4 trees 16 tlles q trees 24 tlles

If he continues in this pattern, find the n" form where the number of trees wil be

equal to the number of tiles.

Understanding the Problem

You know that the 1 form has 1 tree and & tiles,

You know that the 2™ form has 4 tree and 10 tiles.

You know that the 3 form has a tree and 24 tles.

You want, to find the n"" form where the number of trees wil be equal

to the number of tiles.

Devising a Plan

You choose strategy of finding a pattern to solve this

problem. You can find a pattern. Look at the numbers. Pattern of
tree is 1, 4, 9, 16,... (square number) and pattern of tile is 8, 16, 24,
32,... (adding 8).
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pfanssunmdesg {ofl 1 GasgmeiEnudunuuugy (Finding a Pattern Strategy)

Carrying Out the Plan

Look at the numbers in the pattern.

n n? 8n
Consider number of trees equals number of tiles.
n? = 8n
n?=-8n=0
n(n-8)=o0
n=0,8

Then 8" form makes the number of trees equal to the number of tiles and
it has 64 trees and 64 tiles.

Looking Back

th
Checking it. from conditions, consider n ' form we have,
The pattern of trees is n? equals 1, 4, 9, 16, 25, 36, 49, 64 when n = 1, 2, 3,...,8
The pattern of tiles is an equals 8, 16, 24, 32, 40, 48, 56, 64 when n = 1, 2, 3,...,8

When n is 8 amounts of trees is exactly equal to the amount of tiles.
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Finding a Pattern is a strategy in which students look for patterns in the
data in order to solve the problem. Students look for items or numbers that are
repeated, or a series of events that repeat. The following are step-by-step process
in finding a pattern.

B Poattern of Number

In Nan, a cake shop near Srisawatwittayakarn Schc
cakes are arranged in a shelves of 7 layers.

1 piece of cake is placed on the top shelf,

3 pieces on the second shelf,

and 5 pieces on the third shelf.

If this pattern continues, ow many pieces wil be on the seventh shelf?

Understanding the Problem

=¥You know there is 1 piece on the top shelf.
You know there are 3 pieces on the second shelf.
You know there are 5 pieces on the third shelf.

You want to find the number of pieces of cake on the seventh shelf.

Devising a Plan
ou make a strategy in finding a pattern to solve this problem. To find
a pattern, observe the sequence of the numbers on the difference between

the 1 term and the 2™ term is two, 3¢ term and 2™ term is two, the

4™ term and 3 term is two and it goes on. Therefore in the number

sequence, 2 is added to get the new number.
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The number pattern is adding by 2 in each term to come up with the next term.
In the number sequence, 13 is the 7" term.
Answers There will be 13 pieces of cake on the seventh shelf.

Looking Back

Checking it from conditions, the numbers in the pattern are 1, 3, 5, 7,
9, 11, 13 the pattern is to make the next term by adding 2 from the previous term.

Ohm has many chickens for sale in his farm. Unfortunately, they have Avian
Influenza (Bird Flu). The first day,
he has 150 chickens. The second day

137 chickens remain, 124 chickens on the third,
and so on. Using in this pattern how many

chickens will remain on the twelfth day?

Understanding the Problem
You know the first day, he has 150 chickens.

You know the second day 137 chickens remain.
You know the third day 124 chickens remain.

You want to know the amount of chickens that will

remain on the twelfth day.
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Devising a Plan

You choose a strategy of finding a pattern to solve this problem.
To find the pattern. Look at the numbers. The new number depends on the number
before it (subtracting 13).

Carrying Out the Plan

Look at the numbers in the pattern.
st
1 ’Lerm,T1 =150

d
2" term, T, = T,~13=150-13
rd
3" term,T,=T,-13= 150—13—13=150—(2><13)

th
4" term,T, =T, -13=150-(3x13)

n" term, T =150—((n—1)><13)
The number pattern for this number sequence is T, =150—((n—1)><13)
12" term, T, =1so—((12—i)x13)=150—143=7

He has 7 chickens on the twelfth day.

Looking Back
Checking it. from conditions, from the number pattern for this number

sequence is Ty, =150—((n—1)><13) when n is the number of days.

™ day has 150-((1—1)X13):150 chickens.

2" day has 150-((2-1)x13)=150-13=137 chickens.

3 day has 150-((3-1)x13)=150-26=124 chickens
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Woerksheet

Wampee is an OTOP product of Nan. OTOP
shop sold 20 packs the first day, 37 packs

the second day, 54 packs the third day, and so on.

Using this pattern, how many did they sell on the
sixth day?

Understanding the Problem

You know they sol ... packs the first day.
You know they sol . packs the second day.
You know they $ol  cecesees packs the third day.

You want to find

Devising a Plan

You choose a strategy of finding a pattern to solve this problem.
To find the pattern. Look at the numbers. The new number depends on the number
before it, (adding ... )

Carrying Out the Plan

Look at the numbers in the pattern.
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Looking Back

Checking it. from conditions, the numbers in the pattern is

.the next term is attained by adding

cenneneneens 1O (LS previous term.

Arm wants to close down his motorcycle

shop and try to sell it out. He has 209

motorcycles on the first week, then 190
motorcycles remained on th second week, 171
motorcycles remained on th third, and so on.
In this pattern what week will the motorcycles

be sold out?

Understanding the Problem

You know

You know

You know
You want to find

Devising a Pan

fou choose strate y
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Carrying Out the Plan
Look at the numbers in the pattern.

st
1 term,

nd
2 term,

rd
3 term,

th
4 term,

th ;
n term,

The number pattern for this number sequence is

Find the amount of weeks that he will sell out all the motorcycles.

He will sell out the motorcycles in wecereeses week.

Looking Back

Checking it. from conditions, from the number pattern for this number

sequence is when n is the amount of weeks.
st
1" week has motorcycles.
nd .
2 week motorcycles remain.
rd .
3 week motorcycles remain.

th ,
127 week motorcycles remain.
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Each triangle in the backrest pillow has 3 dots.

If we continue this pattern, how many dots wil

there be in 10 layers of a backrest pillow?

1 layer 3 dots 2 layers 3 3 layers 10 dots

Understandin  the Problem

You know that 1 layer of triangle in a backrest pilow has 3 dots,

You know that 2 layers of triangle in a backrest pillow have 6 dots
You know that, 3 layers of triangle in a backrest pilow have 10 dots.

You want to find the number of dots on a 10 layered backrest pillow.

Devising a Plan
You choose a strategy of finding a pattern to solve this problem. You

can find a pattern. Look at the numbers.
1 layer of a triangle in a backrest pillow has 1+2 = 3 dots.
2 layers of triangle in a backrest pillow has 1+2+3 = ¢ dots.

3 layers of triangle in a backrest pillow has 1+2+3+4 = 10 dots.

Make a formula using the given conditions above, after that find the

sum of dots in a 10 layered backrest pillow.
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Carrying Out the Plan
Look at the numbers in the pattern.

1 layer of triangle in backrest pillow has 1+2 = 3 dots.
2 layers of triangle in backrest pillow has 1+2+3 = ¢ dots.
3 layers of triangle in backrest pillow has 1+2+3+4 = 10 dots.

The n'" layers of triangle in backrest pillow wil have 1+2+3+4+..+(n+1) dots.

Suppose Sis sum of dots. e (1)
S=1+2+3+4+.+(n+1)
S=(n+1)+ne. +3+2+1 i, (2)

(1)+(2): 28=((n+1)+1)+(n+2)+((n—1)+3)+...+((n—1)+3)+(n+2)+((n+1)+1)
(n+1)(n+2)
n+1)(n+2
2
Then 10 layers of trangle in backrest pillow will have

(10-1)(10+2) _m(12)

2 2

S

=66 dots.

Looking Back

+1){n+2
Checking it from conditions, from sum of dot of n layers is ﬁn—g—)

1 layer of triangle in backrest, pillow has @M)(“Q) = (2)2(3) =3 dots.

2
2 layers of triangle in backrest pillow have (2-1)(2-2) = (3)2(4) = 6dots.

2

3 layers of triangle in backrest pillow have

!3+1!!3+2! (4“5’
2 2

=10dots.
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If the figure on the right is continued.

How many letters will be in the K row?

Understanding the Problem

You know there is 1 letter in the A row.
You know there are 4 letters in the B row.
You know there are 7 letters in the C row.

You want, to find the number of letters in the K row (11th FOW).

Devising & Plan

You choose strategy of finding a pattern to solve this problem. To find a

pattern. Look at the numbers. The new number depends on the number before it

(adding 3).
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Carrying Out the Plan

Look at the numbers in the pattern.
i term, T1 =1
nd
2 term, T, = T1 +3=1+3
rd
3 term, T =T,+3=1+3+3=1+(2X3)

A" term,T4 £ T3 +3= 1+(3><3)

n" terrﬁ, Ty =1+((n—1)><3)
The number pattern for this number sequence is T, =1+((n~1)><3)

1" term, T,y =1+((11-1)x3)=a1

The number of letters in the K row is 31.

Looking Back

Checking it from conditions, from the number pattern for this number
sequence is T, =1+((n-1)><3) where n is the amount of row.
A row has T, =1+((1—1)><3)=1 letter.
B row has T, =1+((2—1)X3)=4 letters.
(-

C row has T, =1+((3 1)><3)=7 letters.
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Werksheet
nding a Pattern of Picture

The figure shows a tring of green and red beads with two parts hidden by
block P and Q. What would be the least total number of beads on both
blocks?

Understandin the Problem

You know pattern of green beads are and so on.

You know pattern of red beads are and so on.
You want to find

; Devising a Plan
You choose a strategy of finding a pattern to solve this problem.

Carrying Out the Plan
Look at the numbers in the pattern.

Draw a string of beads
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BlOCKk P has .cesosososssssososesos .. beads and block Q has ..ccessssssssosnsese.D€EAS

CONSISY sosuerrveee r€d bEAAS BN wrrvssecsnnecreee. green beads. The least total number

of beads in block P and Q is + =

Looking Back

Checking it from conditions, if the beads in block P and Q are
included to the string, the pattern of the string of beads will be

Suchart arranged the hexagon tiles in a

fine. He finds 1 hexagon tile has ¢ lines, 2

hexagon tiles has 11 lines, 3 hexagons tile has 16

lines. If he continues this pattern, how many lines

will there be in a 12 hexagon tiles?

1tlle 6 ine 2 tlles 11 lnes 3 tiles 16 lines

Understanding the Problem

ou know there are ... wree NES N cereerennnese. hiEXAGON tile.
You know there are .. NS N wescersenneense hEXEgON tiles.
You know there are e INES N cecnrrernecees hexagon tiles.

You want to find
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Devising a Pan

You choose a strategy of finding a pattern to solve this problem.

Carrying Out the Plan
Look at, the numbers in the pattern.

st
1 term,

nd
2 term,

rd
3 term,

th
n term, ,

The number pattern for this number sequence is ,

th
127 term,

The lines for 12 hexagon tiles With are .c.cce.cesecrcess

Looking Back

Checking it from conditions, from the number pattern for this number

sequence is where n is the amount of hexagon tiles.
1 hexagon tile has lines.
2 hexagon tiles have lines.

3 hexagon tiles have lines.
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Bew creates a diagram below to shows a series of squares formed by small

square tiles.
o UGS 5 G I
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1" form 2™ form 3 form

If she continues in this pa tern, how many square tiles wil there be in t e 8

form?

Understanding the Problem

N st

You know there are ....ccssssoes. small square tiles in the 1 form.
Hoe nd

You know there are ..ceesssccess small square tiles in the 2= form.
g rd

You know there are ... small square tiles in the 3~ form.

You want to find

Devising a Plan

You choose a strategy of finding a pattern to solve this problem.
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Carrying Out. the Plan
Look at the numbers in the pattern.

st
1 term,

nd
2 term,

rd
3 term,

th
4 term,

th .
n term,

The number pattern for this number sequence is

th
18 term,

th
The square tiles in the 18" form has ..ceceecsessermecess

Looking Back

o . X th
Checking it from conditions, from square tile Of N ™ IS .cceessseessssesmassnnss

t
1 form has square tiles.
d .
2" form has square tiles.

d
3 form has . square tiles.

Dania was overweight and his doctor told him

to lose 60 kg. If he loses 15 kg on the first
month, 13 kg on the second month, and 11 kg on the
third month, and he continues losing weight, at this
rate, how long will it take him to lose 60 kg?
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Understanding the Problem

You know he 10St eusssmenssseenee. kg For first, month.
You know he 108t weeessessenenensn. kg foOr second month.
You know he 10St .eueesessscenese. kg for third month.
You want to find

Devising a Pl n

You choose a strategy of finding a pattern to solve this problem.

Carrying Out the Plan

Look at the numbers in the pattern.

He will lose .ceceecee weeee. kg N 6 months.

Looking Back

Checking it from conditions, the sum of the numbers in the pattern:

is + + + + + =
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Perm prepares to plant trees with diagram below.
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If he continues in this pattern, find the nth form where the number of trees wil be

equal to the number of tiles.

Understanding the Problem

You know that the 1St form has ... tree and ............ tiles.
You know that the znd fOrm has eeeces UrEE aNA weveruoneee LilES.
You know that the 3rd form has ..o tree and ..oecoeveone tiles.

You want to find

Devising a Plan

You choose a strategy of finding a pattern to solve this problem.
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Carrying Out. the Plan

Look at the numbers in the pattern.

Consider the number of trees that equals to the number of tiles.

Then ........ form makes the number of trees equal to the number of tiles

and it has ... trees and ... tiles.

Looking Back

Checking it from conditions, consider n 2 form we have,




